Bihar Board Class 10 Hindi (SET C)- 2025 Question Paper with Solutions

| Time Allowed :3 Hours 15 Minutes | Maximum Marks :100 | Total Questions :106 |

General Instructions

Read the following instructions very carefully and strictly follow them:
1. The test is of 3 hour duration.

2. Candidate must enter his/her Question Booklet Serial No. (10 Digits) in the OMR
Answer Sheet.

3. Candidates are required to write their answers in their own words as far as
practicable.

4. Figures in the top-hand margin indicate full marks.

5. An extra time of 15 minutes has been allotted for the candidates to read the
questions carefully.

6. This question booklet is divided into two sections — Section-A and Section-B.

7. Use of any electronic appliances is strictly prohibited.

Section - A

1. T o e ffa I & e Sla g 2

(O EEIRIEIE

(D) THTaTE

Correct Answer: (C) 3dL FHATd=

Solution:

Step 1: Understanding the Concept:

g 129 [Rar ATfacT & Y& &1 & [T &rer-aare=T 27 378 oy Ey T
TR & T Gaiaa g |

T & 2 U fqury qrigfeas fa=EmamT ar e« 9 8, 39 gEmdamE, 19, 9
TnTaTE ATl |

Step 2: Detailed Explanation:
T e e & 8T €7 8 397 SIITaE &7 &7 S d qH=7 A1aT & |

1



ITY FETAIE 98 FT § ST SATAE & 91 AT | 9 ST & Kiq™T il =T 7 ZAT-
FTaT HTaFqTSedT & GT-AT TS AT T Id=T &7 ¥ &7 9T |

famree ST & sfaarett § Ua A 'ST9r ST =T H rATaTar gied-and 3T O #ir
srfverfad &, T 9T 3T 'Fady i Tyaedy SEr =it § gy ST, e
AT AT T &7 Eaor e |

T IR AT & FRU 3% IO JIATATET ST &7 QAT S qHT J16T 8 | I8 I2-
TTTETEr ST & R T HET ATAT &, ATRT ITR A FAGS ITT FATEE |

T arfeeyr & 0@ ) (I9- Idg T, &9dsr I, EEE, T9aars, -
ANTATE) T ITh THE HGAT il GAT AR T & | $Y ATTRHT HGIT &l I
el AE s & TS H AEFT & |

2. Gi=ga™T §IO9E qTeeq a9 'AQ T o [hae fiagi &7 TG i TR AR I 949 (6aT ?

(A) T
(B) 9T
(GRSIGE
(D) AT

Correct Answer: (C) 9Td

Solution:

Step 1: Understanding the Concept:
g I BEr arfecy § 'INER & 0 § IS A5 c@J0 Gdhd- a¥ 9qd H av H & |
qAL TaH WWWWW AT T T a7 gy B sfaara
T AT AT & I AT AaT & |

Step 2: Detailed Explanation:

T TqH AT TLRE 1943 T Z37 9T

T’ ITeT & 3 & 91 & 998 & & |

ATT T SH AFAT & (A AT RiGAT R 97 (64T o7, [iahr wfaare eIl ser &
AT AT AT ITH TT ITAT, T35 VT AT AT (Seqt &7 I o7 |

T AT &G o - TAET AT JrFqard, T=a? S, TR AT, TR J194,
FrrReTTeT™ ATy, TfaeTE ST ST = e |

ATT T I9F TS TAT TqF, TET Toqah 3 T T’ T {7 GITaT [R/T, 37 77-
& U 9ra-91d g & ATHT 9|




A T’ &l TARTEE &7 T [6g AT 14T 7 | J7 W 6 aedqs & 3 &1

qra &, fFEe ey wfagt i 91T I1E W § aee fHent)

3. T STETeT T e i T TERK TETT ST [T [ g1 2

(A) TR H L]
(B) sET gfaT &
(C)WW
(D) S[HAT ATEAT

Correct Answer: (B) 6T gfFET #

Solution:

Step 1: Understanding the Concept:

g (29 GHETAN [8al RGAT & THE ST TR SIETA AN 3= (Hot ATiaicadh TRl
T e E

QAR T 5 6T (E g @i A Il TOEhd 9Tt & ai & TET Srar & |

Step 2: Detailed Explanation:

T SIETA &l I Taol HiadT I8 AT AT H' (1991) & fw iafed waras™
ST TOERTC & GEATI [haT 33T 9T |

3T gAY HGAT EIE ‘TG H ULl & [T I== 2004 § VA &7 q9i=9 dTiaicadh
T GTigcT AFREHT [TEh (T o |

I H fa9rT €7 § T 95 Siq TR & a8 § I97 9T 8, §9a0 981 397 5697
gFETHE R

g @& & TEhd Sfadl & Tah =T 414 | (GO 5 § qrigcT AHEHT, T7-

T9le, AT T AT FT AgcdqU [TERNT T A & | T8 o7 == W & &
& & fAT rEr Toear (i |

4. THE TR FTITE

(A) T
(B) §4T



(C) g
(D) 3eT
Correct Answer: (B) 4T

Solution:

Step 1: Understanding the Concept:
g TII WeE §9 F "eid & | S99 35 WTNT & fE<r 7 =0 ud i osx 79 &7
I IHTIATR |

Step 2: Detailed Explanation:

TYF' UF 35 W3 & (TEaT G737 7' J7 'STeA=T §1ar & |

ETCATTR, SHET TEENT AFT GaNToHE AT TIET 5497 & (AU fF797 S1aT 7 | 3280 &
T, o9 1S FEaT & "I TEER SIEATET I T¥H &1 ET R, a7 9T Aaaq g1dT & [ a8
AT HTFATET el TIET FE TET & A TG &7 HIEATET I [0 T q18ar & |

few 7o fawedt & & €7 A9 Maead 3T qeid T F |

& 7 3% T SET & §% 58 TANT &1 § | 9T 947, Iy A7 =)

ATfefcad T&aeh Te & ATTH I8 WS AT &laT & |

5. G &T I4T qITIA F9T FgATar 8 2
(A) q=TT
(B) I

(C) AT
(D) &TeT

Correct Answer: (B) 3773 N

Solution:

Step 1: Understanding the Concept:
g e fafi= W& & aTaaasl oY 396 AT F qatad 7 |

Step 2: Detailed Explanation: ‘
o= faw g fashedt it fagevor w3



(A)‘ETI‘: g U dleT 91T (percussion instrument) %,Gﬁﬁ?aj@rw«msﬁ T T aidi %‘ﬁ'{'
T aCh THST AT &lAT & |

(B) XEATT : TE 91e% 'V | T &, (S6ar @eha & 30T 9T §1aT & | YOI U g arar
(wind instrument) & fEr STET & FT & FATET ATCT & | TH hdheh? Io(T9T ATAT & |

(C) ®XATA : g Uh & 91T (idiophonic instrument)%ﬁﬂﬁ‘wa?ﬁm@ﬁ'%ﬁ%
BT T THITRT AT & ST & |

(D) TS : T& HT & 9 ATT &, ST 9T (MHATE T IqA) T a1 &7 aqF Tl SArSTa[ar

&, o= oo e T AT E
o, T T AT FTIEa I FEATAT | |

ATRIE AT & ITh! IO & ATAT T RE - I (hdheh? T aTe), T (T AT,
TG (FHS aT) AT 97 (@, o= ey asmET ST 8) |

6. "IET Wex HT A B

(A) T ITETAT

(B) 97 T

(C) & & & AT
(D) FTHT ILEAT

Correct Answer: (C) & & 1€ AT

Solution:

Step 1: Understanding the Concept:
T8 U (6<r & T STe=aTer & 9re% "Wl & o § e § | e § 'wEt fomr & s

HHET: "TWHI & AT @ A9E(T & |

Step 2: Detailed Explanation:

T 5 wET oo 7 CANT AT e AT H EET R

1. AT T T & A& AT (& (the day after tomorrow).

2. XENE T YEeT &7 (&= (the day before yesterday).

faw T faedt |, '(C) 6 & 918 AT I8 371 (the day after tomorrow) &l TS F#YAT & |
I fadeT (T TEATAT, 997 &, T TEAT) T avg & ATTEATE & |



fE<r & 99 a1 ATy WSl T AT, A, AT, AT (FeT & &r o a1%) e &

I AT AN &l A=, avg aaet of |

7. fRmT 89 W &g 99T ®gl 99 T ?

(A) JTFT=AT
(B) &I

(C) TR
(D) ge1a-

Correct Answer: (D) g&Ta=T

Solution:

Step 1: Understanding the Concept:
g O (BT Arfg e & Qfdaret il ATaqad 9T & @ Hid IS @ Siad § aaidd

B

Step 2: Detailed Explanation:

T I G198 e T8 DT & G H JIC G907 o | F o A19d T A0
T H & o |

T AT AT H SO S ST ST gRT 3 | S & SR S I, 35§
3TITQ‘€I‘J'I'QTI

[T 89 & a1% 9 faoetl Brsd? garas 9ol T |

Wﬁ‘é‘ﬁmﬁwﬁ“ﬁﬁﬁ‘@‘ AT AIAT T STTaT FS07 Fiaq AT FwIed =1

T feqma | I wfaaredt & e TH (oI & T20) 3T Ao tiad T (FS7 & T90)
T AT e Aear & |

TfaaTe & T ®iaaT (T HFaTE, [G8W, YT, 99E) & Sa sif JeF 9e-
AT, I AEIRTAT TSI AT IThT T =T &l I8 T |

8. T AU I FHETE & [ &9 A 3 I EQ ?

(A) ST 9T
(B) g~ 917



(C) I T9T
(D) 7T T8

Correct Answer: (B) 3fa< T3+

Solution:

Step 1: Understanding the Concept:
g [0 PATER & THE T § § U, GiHaOHeT 90 & d9THa (o 31T 9=

A q d4Ta g |

Step 2: Detailed Explanation:

AT ET 9T & FIT a7 H & T4 1S AW

1. QRS I (FIATATRT): §F I H ITeh! Rfqarsit T THia TH 3 Hed=T &l -
AT T (F0T, oA d) |

2. QETQETET/AATSTETET S0 : 6 &1 H & Araaaral ([MEwamr § ©Tfad g0 W I= 1=
TS T 9T Sfqard (@i (Fera, Farr, ) |

3, 3T IXOr (AT A ®): 3T e+ & SATaT T H, I SfF THNETE & A0 aga? I
HIEE (Aurobindo) & HHIT AHTAIEE IT 'IaTaTE T & qgd THTad §U | 3Tl
T T =T S SR, SO 3T ATREaT I ST 9 &l €75 1T
ST ST AT & |

HA:, T GHISEE & ALGE I hl A I 5 |

THE HQaT & GTigfcaad Sa & [aia= S0 3T 37 9 T3 Q190+ TOATal dl

FHEAT AR a9 & | 90 & ATHA &, F0 & : FHATAE -> ANER -> F(GE 907 |

9. "GTHT F4TE ?

(A) BTeT FLAT (ST SIS T89d &

(B) ¥&T & (AT SARTHETI el

(C) BT AaT ¥ o T &l F AT FHT deh AA9e oAdT &
(D) |TH &I &t Tah fafar

Correct Answer: (C) 1% @&T TEq¥ [ T & & F AdT FHL dd AdE AdT &

Solution:



Step 1: Understanding the Concept:
g U |6 6% & 37 3T IqAT T59 F Gaiad &, 9 Td Tt T T & |

Step 2: Detailed Explanation:

HTRT T T TATAT 3 9T 9 FOT T qTeAr ST 8, A1 99T €55 8 T5e = {7
T H IS ST 8 | T8  EA S T @ A g

faw T fasedt § & &% T S o7 &7 979 qiT 9% A& A8l &eal & | I8 Ud qefequr
YT & qFaT & |

ETATTe, Tf &7 999 Maeaw faswes g+ &1, T &9 fadedt &1 [Myeyor #d &
(A)@T(B)WW@‘W%‘

(D) ¥T TTefel &, "HThT &1 e st fafer Te1 &

(C) H '&aT I T I &, T ATHT (TS Fl U (Gurvar & #41feh a8 \T U Aar 93T
ETET & | T=TTT SHT AU S & T A W%ﬁﬁwwwaﬁrqﬁ? GIEEEES
TR JIRNT T8 &) & He S5 AT [qahedl &l qor=T § JTST e a=mar & |
T o A |, AFE UH AT H G & T [qehed hl =1 W%lﬁqwﬁ‘
FAT H, (C) H GTHT & U qcd (FaT T6q%) FT Io19 7, TATAT 6 IAL AMT ST dhaT 7 |

TG, TIAT # fadeT & T80 ar 9ad & | UAT ferfa &, 3= f[afr (method of

elimination) &I TZANT &Y 3T I [qdHeT Al I+ AT I & [@AT I 5= & qa9
s g |@rar ar |

10. ‘ofed wrsT w7

(A) sET

(B) stfaq@=
(C) 9IT=T

(D) TqITT

Correct Answer: (B) 3Tfaq@=IT

Solution:

Step 1: Understanding the Concept:
T I (Bl w2 Wew & &, (S| wrfed srex it @i as=r v o g e e |

Step 2: Detailed Explanation:
HATEH ITe2 ‘A & T & | AT & T & - T, JEAT, AT T8AT |

T, ‘AT &7 3T &1 & - A O § &0 &7, 95 0T, A, a1 TS

8



FTEIT & |

few 7w fawedt -

(A) 74T : I8 '=fed &7 faqm & |

(B) AT : SET 3 & ‘Tgq LT, S HAEH & Har .10 7 |
(C) T : ST 3T & FTHI (sufficient) |

(D) AT : ST ﬂﬁ'%‘ qTRTRT (insufficient) |

AT, gEr I AT

IreaT & JeT (root word) &l T &l FITI9r Y | §HY ATl Ik I AT ATH
T H AT (Herdr &, 9 SAfes 5 7o oTes e &

11. "o TET AT ASHT &' - TE foher FqRraor 7 IIreeor g ?

(A) TA-TcHS fq@rvor
(B) ATaAT A fawryor

Correct Answer: (D) ‘Rﬁl’-ﬁ'w

Solution:

Step 1: Understanding the Concept:
g e T smaeor & fauryor & o faferse vy wiaeor & e § qafaa 7 |

Step 2: Detailed Explanation:
AT 1T & [TTATT HE: AT T aof TS 7 |

o §FT: 9T, ASHT

o fqAYr : 7 (FF Fewr "@9T S fauyar sar wrE)

o @AY : TgT
Tgd ek (Oyor ‘qor & {Y fauryar aar @r g (Raer asr 2 - aga an |
TR |, ST 9re5 fawryor & fasryar sar &, a%‘{d%ﬁw (Adverb of Degree) Fgd & |
i 57 a1 § TN (g & TANT §30 8, AT Tg ared TG990 & T

IehSE IETEV |
7 fadeT:




(A) GATCHS (GRIVUr : SHH &7 AT A& AT S JAT /1T & (G - 9T, qIET F o]
o)

(B) QTETIHS faRINT : ST 99T 3eg 95T § U8 MY (GO0 &7 f1T 7 (I - 95
Asan) |

(C) G&ATTS (G : ST H&IT T (I - T ASH) |

e T AT EFT/ASTR & fqurar aare a8 fauryor &, S S fquryor & fawreear
AT I8 "RV & | 5T, FH, AT, T2 A7 qrAT o e |

12. g+t At - g fe fa@ryor & 3eTRor e 2

Correct Answer: (A) I[UEAT=

Solution:

Step 1: Understanding the Concept:
g O (&< A frﬁﬁvw%ﬁa‘rfrw@rwﬁ?r%ﬁﬁwagw%a‘rw

T FGAT T faeryar gamar s |

Step 2: Detailed Explanation:
T =T o

o §9T: HfaT
o fa@yor: u=
FET 'O 96T S Ta’ | & [T (STTEIT) Fl qaT &7 & |
ST faror sTex ST AT AR & 0, &1V, OT, €T, SR, FTTET A HT G0 H 7,
I AT (YT FEd & |
7 faaeT:

s GRITANE  : I8 ST &7 a7 F0dT & (F9 - &7 o= fed) |
« TRATIETES : T8 AT AT ATT-ATA T AT HAT & (A - ST fowedT 21T |

10



o QTaATHS : ST GG IeZ G351 9 U5 AR (G &7 H1H &7 (I - ‘95 AT |
HA:, W T YUETEG (GO |

faerYor it TE= & (AT ST E 6T 2, FET Y, T 2 I T, |5 - ST e 2
I (oo 9= | T I I, QY AGET A H &7, a7 98 JuEar=d (99 arar
7l

13. 'IG AW AT ART ¥T' - TE /e [AHIT FT I2TECM & 2

(A) GTHTT dhTe
(B) AT dhl

(C) IUr MdaTeT
(D) LU AT

Correct Answer: (C) ‘Ilﬁ‘ EPGENN]

Solution:

Step 1: Understanding the Concept:
g I BT ST § &, Faurs €7 & Jaarer & J&i & 989 & qafad & |

Step 2: Detailed Explanation:
AT ‘I §LI9T &M AN T § 5 JTG 8147 & (o (6T (T &7 A1) JAdIeT § &7 T ar

TehT T |

‘I‘ﬁ‘?-l\?ﬁ?lﬂ‘(Past Perfect Tense)W%W@ﬁW%W%%dl AT %’ﬁh‘chlei
AT 5 Tg e Tael &1 GHTS &1 T4 9T | HaT B9 [R7aT & T € & qr 90 9T,
T, T, TR AT, T AT, Fh A A A F AT R

F faaeT:

= (aX)

o AT AR : I ZUAI AT AN | (67T yqavrer 7 g5, W a7 [fe=d 78)
o AT AR : AT &I AT AN & | (=T IfT-=nit T g5 7)

o QU AR : T8 SLIIT &l AL 78T 4T | ((f7am aarer § STy o)
e ST AT H W AT T AT £ &, ST I07 JaaieT &l 90T & |

11



ARTeT & Wl AT TETT & (0 [T & 37 & @97 GaTdeh 6T (97, &, &7 97) 9
AT & | T &7 AT T8 qa1dT & (6 (AT & TATG g0 ST q7T &7 4T &5, S0

qUT AT &7 Hehel & |

14. 97 ¥ 3 aT9 T g (63T &1 IS | 2

(A) FraT T TgaT & |
(B) T=aT UaT & |

(C) I 2T & |

(D) FTST&Ear & |

Correct Answer: (A) FId1 RASSED Tedl %I

Solution:

Step 1: Understanding the Concept
T I (7T & &7 g Jal - A @ o AGH 6 - 6l T8 I AT & |

TS [T : (99 f6T=T & arr #7 (object) AT & IT &F &l SWTaAT &1 &, Y fawar

FT A HAl A BISHT HH T ISAT & |
AAHS (T : [ favam & | & FET §1aT oY [T &7 et §h FdT I ISar & |

Step 2: Detailed Explanation:
A S [T & T8 & (A0 {631 § 957 ‘74T a7 '[faar dmas 09 & | K &S
AT I9L [AeAar &, a7 fear aa0s & |

« (A) HIaT & Tear g |
I (FATIAT & ?) — 39 [0 | TaT "5 FH & | AT, T GhHE [T s |

« B)TTUATH |
T (FTAAT R ?) — IO T85! (T | (@ T Aar 8 2 — =47, ST &ar 8) | Fd:, I8

HAAH [RAT R |

« ()T eeTR |
T (FATIST 7 ?) — IqL: &1 [HeAT | T2, T AFHD [ReAT 7 |

« (D)HTSTEISATR |
QI (FIATASATR ?) — IO & [HeAT | 372, T8 AFH G (a7 |

FaA I (A) H&r & & ArgE | |

12



T & =T I TR TS GEH S 3T ARH G [T @l T8 & a9 T AT
TRITET a¥aT & | 3 IOY [Het ar Gai e, = (Aot v ST |

15. AT T RT G - ST AFT T T IE & 2

(A) T FEH

(B) LT G

(C) AITETT S
O EICEIVEIED

Correct Answer: (B) ¥ filih

Solution:

Step 1: Understanding the Concept: .
g T2 [EST TR H d 0 i T59 F Sai9d & | i & o &1 & oI arey § |57
T GEATH &1 G (6T a1 o= Irsaf T aq1a & |

Step 2: Detailed Explanation:

T AT T HT &7 |

TET YT T [R"T T AT AT HIT TS 7
WTWW@E@"W%W’W%@T%W%WWWWW
FAATH |

T T H ' AT I HI AT HET G 6 (0 g3 8 (FET HTET R ? - T8 ) |
7 fadeT:

« T TG (@D): foE@T a7 v 7 waw |

« TR FE (|): ST G5 T ' &, Al Ig AT, AT, ST A1fS & \Ta 7
IFT &IaT & | (79 - 95 & 94T i) |

o TR FE (&, T): [FAT F AR FT AT F@T 8 |
iR T8 | ATIS/ARIT AT TS T ET &7, TAAT T8 HIT A & |

T e ey 90T 3T T9Te™ ST & =1GT & | 3a 89 & (e o | ar
QI ATH/FRE & (AT &T T&T & (FIT ) IT AANE/ST/TAAT &0 (AT (I
FEE) |

13



16. fer ATfes B & Toe TG X & 13-13 TIT FEL AT ST WO & 11-11 AT
g e ?

(A) ETET

(B) 9¥aT

(OKIEIES

(D) TrAT

Correct Answer: (A) @IET

Solution:

Step 1: Understanding the Concept:
g o (E5T FTeavTeay § Ba & 599 & gatad 7, fauryeae arfas Sat & & |

Step 2: Detailed Explanati.on: ‘
A=Y fEw T FaET & T W A= &

* (A) J(ET: TE TH AIGH ATIE B2 & | 96 I I &1 & | 96 T8eT AT q1EY
(Farso) STt & 13- 13 ATERTE &7 §8Y 3 SH () IR0 H 11-11 A0 & & |

« (B) QIXET : I% TET & ST IeeT &IAT & | T5 W Tdh STHH AT & B2 &, 9 T8
A TEE ILOTH 11-11 T9T TEL T 0 T20r & 13-13 ATAC BT & |
« (C) TS : I8 UF OF AT G2 & | 96 s I 7 16-16 ATGITU &1 & |

« (D) AT : T& T TF G ATMF S5 & | TH TedF I § 24 AIQT6 &ram &, R
11 3 13 ATt 9 afaq (faemn) grar g |

QT H T, T &0 (TEA/A 6T S0 § 13-13 3T gE/IT =20 & 11-11 JTa900) 8rer
AT R S d T @l & |

TTET 3T AT UF gAY & 3¢ & | S7a U 9T 18 W& : &ar = 13-11, §Fer = 11-13 |
IS & 16 ATARTE &1AT & (JTITS H 99 ST &, IR 16) |

17. "R I TR, fae I & G0 | T 37T T Fa%, AT A 9 11" - /e ot -
FCFHTIZTC T ?

14



(A) 9
(B) IHSH
(C) TAY
(D) T9H

Correct Answer: (C) IAY

Solution:

Step 1: Understanding the Concept:
g X9 (ST FTeg9meay § ‘=i (Figure of Speech) T T8=T & eI & |

Step 2: Detailed Explanation:
T &Tg &l g dfad "I T T FHaL, Al A T H T 958 6 I T G 530
&, ST S8 T AT -STT GadT & I AT 3T &/

1. %%Wﬁ"ﬂﬁ'ﬁ@'ﬁ'%‘—w&ustre) |

2. A (ATST) & G&3 H T &7 37 & - §ood a7 G+ (Honour) |

3. I (FAT/AMET) & HEH H THT & 30 7 - T (Water) |
TAY AR dal &IAT & W&l UH &f o1 & & T AT9d o1 Maera gi AT ¢ T 7
T AT o1 T &1 | FET I weE & T o (AU g R, A Tg TAY HAART &(

ISR E |

qHH AR H Ud &7 I3 U F AT I AT & 3T &7 T ITGT o0 (T 21T 8 (I
- &I e of ETI[AT) | AT T 9e8 &l AT al % a0 g3 &, T2 g0 Gid J U ar
T WeE & A AT ag A |

IAY AT IHE H A7 GAH | TAT H Ie8 Udh G171 & AT 3 T &l & (V3
T, 37 A=) | THE & I8 AT G ATAT & 3T &€ qL 3T AAT 2T & |

18. I ST fF 94T fhasir g ?
(A) 32
(B) 25

(C) 31
(D) 29

Correct Answer: (B) 25

15



Solution:

Step 1: Understanding the Concept: .
g T [T TUHTAT H =T & aiaor § Gatad &, [ €7 & S99 =1 il 69T |

Step 2: Detailed Explanation:

I ST T AT &I & (AT =0T H [TagT (S 79 & [ T-T-ffd T v T (39- #e,
AT, JHT, &, 3A8) &l 79 FIAT & |

BT TUHTAT § ' AR T aF & AT Sl T8 ST HaT Sar & | §95 T ant F
fenyrforer ferar T &, o e T H O e A

« FA: F, T, M, T, T (FeT)

« T T, G, T, T, T (@TAA)
« T T,T,T,T, T ({I)

« T T, T, T, 9, T (FA)

« T T, F, T, W, 7 (3ArsT)

F EGAT = 5T x 5 TS T aIr = 25,
A2, TT AT T Fel GAT 257 |

ETS ST & T T T Fed & | T T T (6 & T 7 dTd 6 T 25 ST
TS I & |

19. fo=r 3 T SreTUr | ?

(AT
(B) =
(O]
(D)=

Correct Answer: (A) S

Solution:

Step 1: Understanding the Concept:

g TI ST & TT0T (YT a7 &l A1) & AT ¥ i ieheor & Seea & : STeqqeror
AT AETI |

AT : [ ST & IS0 F & & FH Ia19 a5 [AdweAar 8 |

16



HAETIAT : (9 ST & =AW § & & AT vam& a1y FHaetar 871

Step 2: Detailed Explanation: o
Mo & A, TWodd SI9 Sl a0 &l T&dT, Jrae S qi=at el STeqqQor arar

7l
FIT T AT AT THIT SH T AT &7 & |
A=Y fadedt & fawevor v

c(A)T:qg T T (T,3, S, 8, M) A QG & | T T8 AT E |

« B)T: I8 'F T (F, @, T, T, F) AT AT I & | 3T : T8 AGTCAT & |

c (O)®: T8 ' AT (F, T, T, T, F) & @ a0 & | (A I§ AGTT & |

« (D) : T8 T (T, T, I, , ) FT AT I & | 7T : T AGTCA 7 |
T T, HaeT ‘T &1 AT H o & |

T A e a7 & [ S arer (1, 3, 5) S AT &1 & S 99 S
qTeA (2, 4) SHT HETTM &I & |

20. =T 7 AT AR AT & ?

AT
(B) B
(O
D)

Correct Answer: (B) &

Solution:

Step 1: Understanding the Concept: . '
g I AT AT AR ST T T8 & Sa0d & | HETI0 S5 a & il
=AW H 1T YaT9 a1 &f e yg&ar arar & |

Step 2: Detailed Explanation:
o & SAET, e ©997 Ao aiT &l gXT A ST T+ AgTI0 81T & |
AT faedt &1 fageryor &3
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« (A)T: I8 T (T, T, T, ¥, 7) FT TEAT AN & | 3T : T§ AT & |

« B) T : ¥E T AT (T, T, T, A, ) FTGHT 08 | AT TE HETLAT 2 |

« ()T : I8 T T (T, T, T, ¥, ) & qET W& | T : T5 AT 2 |

« (D)T: I T T (T, T, T, T, T) F QAT 05 | AT : T& TN E |
T &, fw mw faswedt & w9 &7 qRTT AW | |

HETIITT ST &l TESd 989 ITE W [ 39 I=9/0r § ‘5 J9r &af T (h-sound)
AT &, S G (k+h), "' (g+h), ' (ch+h) AfT)

21. '@ T2 H T [WAT & 2

(A) Zav
(B) AT
O)F

(D) TT

Correct Answer: (B) 21"

Solution:

Step 1: Understanding the Concept:
g TII Wes [HT0r i T § ead @ IES O e id 8§ | edd T Wsa i A
& A [T o7 & AT H ST 39 7Y H IRada arad & |

Step 2: Detailed Explanation:
AT 9reT T Faoetyor e 9

e 958 + e = 19T W7

T (A TR + AT (TFT) = qT-T

FET T (T AT BT A1) T YT FT 7 | FqH AT e T TSR S AT o8
AT (RIT &I T ) FAETIATR |

fgaheT (A) Ta0 9o =% &, a9 &1 |

fadeT (C) & oo 7B 8 (O @S § 'dSa) |

fadeT (D) THT Ud & d? 9% &, 8T Todd & &7 § I A6l 53 & |

AT, FET AT A7 |
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IT ! T8 & (10 % H & HoT AT 9163 dhl HAT &Y | ST Ie(97 A H a=ar
&, T8I AT BIAT & | S TavET § F wEY g 9 A a9ar g |

22. 9GS I H it a9 § ?

(A) 3
(B) =1
(©)aTs
D)=

Correct Answer: (A) 25

Solution:

Step 1: Understanding the Concept: ‘
g 9T T & T899 & Gaf9d & | 70T We8 & Ad H 93d & |

Step 2: Detailed Explanation:

QTS W [TdT FeAT H g7 & | S9&T el 91 &7 9" & |

T T H eaT SIS HTaaT=a 3T a-1s TS & |

Hed |1 + TIT = 97 Jqea

TG (A €T + ATE (T = TgT8

S oI [T & 91 €7 H JSHT ITaa=d @37 a47aT &, 99 - 7§ + 3% = Ig[%,
ferer + =1 = forams |

AT, FEN T A 7

S (@€ o5 H T T84T &l Al 39 HoT [0 AT €9 AT HST €T A T84 &7

I & | 968 &7 €69 '=eAT @ ar 9 &, 699 o1 91q '=9¢' &7 7a7 9aar s |

23. ‘g3 e IrsT FTII(EAR ?

(A) T 9T
(B) T T
(C) T
(D) fagsrsr
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Correct Answer: (A) dcqH

Solution:

Step 1: Understanding the Concept:
g X9 AT & AT I et & aIfieeur (Feaw, aed, a9, faewrer) & d@efaa & |

Step 2: Detailed Explanation:

o TCEH (T + GH): GEha VT & I8 ST (el H [QAT [RET TRAAT &, AT o €T
T AT fhT S E

o TIT (@ + WF): FEH & 9 Tk AT Fg, €7 TRaa & ar faar F wafeaa 8 |

o FT : BT It & BT & oy orex |

» FaRreT : fsiT TTYT=IT (AT, wRET, IS o) & Ear 7 =y orex |

A Ie HERd MTYT &7 7 307 BT H ST &7 T 0T &147 7 | S9fAT I8 UF qead
T F |
I AT aGHT €7 I 7 |

—

S SIeat § §gad & (&, qF, T, I9), ' & 1T, T 91 T & fafa= &7 (@&

'H ) T TENRT BAT &, T A9 aoaq IeE &l & |

24, ST e IrsT T IRTET & ?

(A) &G
(B) T9IST
(C) ANTEG

(D) 5 T @IS a5l

Correct Answer: (C) TTEG

Solution:

Step 1: Understanding the Concept:
g LI FT9E IT TGAT & AT I TS T & aIaeur (5, AT, IRTEg) F Hafad & |

Step 2: Detailed Explanation:

20



« ¢ : T e o9 Gy @2 95 AU ST g oY S W 7 6T faey oy 7
HFT &I & (ST - 9, T |
o QT : T 9T ST AT AT aT & AT Teal AT 23T & 0T F g4 & N7 [T gt
FTAT T BAT & (I - TTSHTAT = IS + ITeA) |
« JATEG : T TTH o8 ST AY GTHTT T il Brea? fGar (GO, W = &
frosgarsmas |
A o AT [GIATIT FL:
A = A + T (S & 3 & T, AT & TAT 53 |
TEHRT WMo 3 & ST H ST-HT £ | ST F a7 a5 &1 Sief S ofdl & (F9- 7o,
Sraret, fer=meT), AfeT Serer wew Fae ®EA F BA & (1T € &I ITETH |
Jfe 7 wrex T &1 g AT UF (99T o ¥ /T &, 39 7w GhTee Irs & IaTEr
& | ITE GHTE & ATIHT ITTEIT ANTEG e Bl & |

FITEG WeAT &l TEATA &l Ueh qOA AT A7 & (oh § AT Agailie THIE & IS8

BT & | T AT T 2 BISRT SIS 99T, [0y o S0 5 | 99 - 29T G &

A S - 9 |

25, QT f/e ST FT IR B ?

(A) HfFaa=s
G RIEEIEED
(C) STfaa=+
(D) THEA=H

Correct Answer: (D) GHgd=H®

Solution:

Step 1: Understanding the Concept:

g I 99T & J&1 § 9a4f9d & | 43T [fdT S=fa, aeq, &I, 919, 998 a7 &0 & A9
A FEAE |

GHEa=® 99T (Collective Noun) I8 HT 165 & SIT (A€ Udh (o &7 AT96 7 21HY T8
T ST ST AT FAAT & |

Step 2: Detailed Explanation:
AT W% (R T Sl & a0 T8t HOrdT, i qiTa! & I7 998 & a7 dar s |
ST, GAT Udh Sa=E 3T & |
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;T IR HEdT, WIS, It TRaw, &, =g e |

- fFqara® : e fqury safe, I a1 S &1 A (GFH9- 79, fToei) |
o STfaaT : fFET T ATTT 3T a7 AT G0 FI AT 67 (FH - AT, TET) |
o WTEETE : [RET [T, TWT AT HTT FT I FL ITAT 61 (F - FIAT, T99) |

AHEa=® ST @l T89 & [0 a9 [ 9T I3 Udh SHh(s & &7 H T § AaH

qaEIT & GIE &l S9T T&T & | T HAT T THS 7, T I9H &5 - ald & |

26. 'ATET fFE GFT FT ITTEUE ?

VRIEEIEED
GEREEIEED

(C) T ga=®
O EIESEINED

Correct Answer: (B) THdEH

Solution:

Step 1: Understanding the Concept:

g LI 93T & VT TTHAEF S3T &l T59 F qaiaa & |

LIS G (Material Noun) T8 ST 5% & ST (AT 9T, XA AT TG &7 S HAAT
&, IS AT =T ST ST adr 8, AT (AT A5 ST 6hdr |

Step 2: Detailed Explanation:
TR U 9T & | T8 UF T&T &7 AT & | S AT AT Gl & (T - U [deT ATaT) Afdn
FeT TET ST HheT (53 U SART, AT FATRT TG FE) |

AT, ATET U @Ha=H §3T 8 |
= IET|LUT: AT, FIal, I, T, 9, aoT, 3T A1 |

= S5 wrest & (A9 UHT &7 &0 a9 & [SEd 3= a&qU a918 ST 9, 9 09

SYHATEE T &MT & | ST A8 & &% A 3 aequ a-ar 5 |
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27. qe' X HT EQUIAT €T &

(A) Ga-T
(B) GSATET
(C) §aTT
(D) G

Correct Answer: (C) T3TT

Solution:

Step 1: Understanding the Concept:
g [ (EaT AT H e T oRaa (e & & i) & Jafad & |

Step 2: Detailed Explanation:

FEar 7 qiee T reat & Stet T a9 & forw fafi= qeeger (S9- €, 39T, 37, 31T, =1 E)
S ST E |

TS U JooiT 958 & | SHaT ST €7 a9 & (AT ST Ted T ST Arar & |

S + AT = M

THT T, ¥a7 + AT = @V, 578 + AT = JSHT |

AT, G HT TET ST €T HSHT 7 |

e IREaT & o’ & gl & a9 I &1 | A AT ST Woad T H \ I

TET | =T &7 I e (dfeare) 3 SFT (@HUsT) S9 Ie1 i { T |

28. f=r A Jr wrsx qfei Ty 2
(A) ARTA

(B) =ATSIT

(C) "H "R

(D) fe@mae

Correct Answer: (A) 3T

Solution:

Step 1: Understanding the Concept:
g TII WS T & [T &l Tg== & "afaa 7 | fEr & e fraivor fzet & e1ramar are
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TN 9T TR BT & |

Step 2: Detailed Explanation:
STeaT AT (eIT TE= T &l Gad SA=GT aiial 3= aTed § TN HIAT |

* (A) YA : I H AFFA T3T | (FRwam o= g &) — 7% qfeeiT = |

* (B) TS : = AT foedr | (e e st &) — 7% et 2 |

o (C) T9® : & AT 99F A=[ & | (FF9rvor sr=gr et 8) — 98 | e & |

- (D) foremae : st femarae aga g2 7 | (Fasvor Hee a5t & EfenT & T vge
) - TE AT & |

FTET TOINT § €7 § [ dhgel STl s I & |

fRET sre7 &1 foiar Tea= & (AT 39« arr (/e a1 faeror siae & ier are

FATU | SO (T T FET T T ST & | ST - HI/AL AT A= /=S A AN
&

29. 'H ET 39 T - e G T QTR R ?

Correct Answer: (C) Aera==+

Solution:

Step 1: Understanding the Concept:

g X9 G- & ol &l T8 & dafad & |

frera™=® G99 (Reflexive Pronoun) ¥ S99 &1 & [S&T TN &al &4 9+ @
FAT & | AT, &9, G&, &9 : e Moa=s 999 & |

Step 2: Detailed Explanation:

T H TT 3 T H G 6T AT TART &al §' T A9 (AU /T g | ag s aa w
S AT & [ &dT wF GT AT

Jfeh ST AT THANT FdT & (F57e (self) FT AT FF & [0 F0 7, (AT 77 o=
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qaaTT |

| c ' ' s ' A v [aN
frsTaT=e J99TH i 95T ST, W9, e S Wea T F /1T 8, 9 S0 I
FAT ITIT [T HTAT & | JITRLT: T8 ITIAT HIH AT FAT 7 |

30. 9 & fha-r AT I ?

(A) T
(B) 9™
(C) i
(D) 37

Correct Answer: (D) ©&

Solution:

Step 1: Understanding the Concept:
77 (&< ST T Ueh TATHS 0T & ST TG0 & J&T il §e3T 73T & |

Step 2: Detailed Explanatlon
3T Ao & AT, 999 & 98 AT IS R &

BN EAEIEED Qa4 (Personal Pronoun) - 7, qw.ds

2. fre=ge™=® 9999 (Demonstrative Pronoun) - 9%, 98

3. SrfTe=gaT=® g4+ (Indefinite Pronoun) - FS,

4. GEETEH G99 (Relative Pronoun) - ST, &7

5. AR LTI (Interrogative Pronoun) - &I, FT

6. fasta™=® G349 (Reflexive Pronoun) - 3T, &5, &
AT:, TATH & A B8 HE & |

AT & G B§ V&I AT I ISTRIUIT f Tdh G FATRT A1& R of | T ATRIIT
T U HA T AT Freaqor (v 2|
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31. ' M TS F i AS AT T RIST QAT 9T 2
(A) TEH

(B) €&

(C) 9T FT ATHT

(D) AT

Correct Answer: (C) ¥ & AR

Solution:

Step 1: Understanding the Concept:
g T faa §9 yat g7 e Jaetl 8T & Il 3T geTei 9 ArITha 7 |

Step 2: Detailed Explanation:

ST REMT 7, AN T AT T8 AS AT Dl IS R AF =L AT ATRT HI HIAT T |
FEMT H ATEd 3T IHRT e IS §q A8l A8 d o (6 A DT & FET AT, T I= FU H
STAFRE ITA-T 918 d I |

T ] A AT &l Ale & [0 TeI7 T T2 a7 o7, T dq Th AS oAl A T STl

B
T, HS AT Rl T R TL RT AR HLAT 9T |

TETEqT Tl HETFAT AT ST & & ITAT AT I T [T TT T HIAT &l
e W | SO 39 dF & TS I T IT¥ =T SAE &7 ST & |

32. 'SATfa=a" WYe IS & 9a &
(A) A9 qISTIAT

S EIGEREKIEGRI
(C) T faeT™ 9|7
(D) E9ITT (¥ETE &fqaar

Correct Answer: (A) 3T aTSTI]

Solution:
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Step 1: Understanding the Concept:
g X9 (ST e & 9T 30 377 Taahi h a7 & |

Step 2: Detailed Explanation: ’
AT U AT IaAiT &, [T oas iag arigcaa e 1w qreredr & |

g 1S eI HUE & U JO0 I8 a1 AT F&T UT AT & (R 1y (7T AT Irqest
AT  Ud SH1E H6 H oT@d & AT & ATHAT I0 AT & |
AT, GET 3L AF aIaT 7 |

AT TR & T IT8T 3T I TGl & ATl T AT a7 o AW 39
frafaa s Ead

33. (ST ARTOST ST 999 T9T I (Hqar A= & 2
(A) TSI &

(B) 3TEAT &l
(C)arH &
(D) 9T &

Correct Answer: (B) STFAT &

Solution:

Step 1: Understanding the Concept:
g I g &9F T Isq (60 TEWNT & a9 AT a8 T -fore § f-

SRS NP I

Step 2: Detailed Explanation:

faes] AT & AR, I TS ((qaT 0 % A=F AgN) df §cg & I8 I

STHAT (A1) T 375 EHTAT AT T8 d [T |

T T Fal JoT FURH & 3 o, AT ITa! TFAT ITeh LRI &l a@al &f AT Iqadhr

gaﬁﬁrwwaﬁﬁnﬁéwaﬁ%m?W@ﬁﬁrﬁm
|

ST, favsT AETST ST9AT AFAT & ATAT TIH TS SIS A o |
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HTETeRTT AT T 9T AR TSt 7 AT & Sira= & Ageaqur AR 17 36
TS &l A & I% |

34. "gfx A~y Rfeafaat @ famrs 787 § ar sRfesfaat S agsa & s T8 g 1
Jg R A ER aTE ?

(A) BT TXETE Sqaar &

(B) TUTTRY. T &l
(C) T AT IHT &7

(D) HaF JoAL AT

Correct Answer: (A) 85T TR &fqdar &

Solution:

Step 1: Understanding the Concept:
g U9 g ot & &1 A7 [qard i =0 F g6 7, S o199 37 et

T ead ald & |

Step 2: Detailed Explanation:

g g I g [ETE Iaaer & FaT T #i agad & 2 § @ mar g |

H [T 7 3 7T & T[T (A1 QM) AT ATSTAT (AT FleAT) & a1 & a5 90
fam T

T H T hEd & [ TS haet TRt 6T T8 T8t &, afcd a8 AT i+ 37
faas & TRTerfaat @ aaer 4T 9&dr & | I8 T AT § A -FEaer i Saaear
&l STfeFT &7 &9ITaT & |

THE MaTarT S8 g9 THTE Sadar, THEEY I A & [adi & Jo da9r
AT ITeh TG G &l AT H T |

35. TRTEL T HST ATATET HieT AT oT ?
(A) =R

(B) TSMET
(C) frame
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(D) frwaam

Correct Answer: (C) f&ame

Solution:

Step 1: Understandlng the Concept:
g LI LRI g7 (AR dgFT T8Iy & Tl 3T 396 HATEX F G4 & |

Step 2: Detailed Explanation:
FEMH, TERL Th AITAT ASHT & AT AGd & & AT & & { HH HAT & |

e FT g, [RET, U frSer oY T STH aTeT AT 9T | 98 A9 91 S J857 T
FETAT 9T 2. BIET-B el TATTIT IT TEIEL &l STedT T TedT 9T |

fRenT &7 TR1gL W 999 ATIF FST ATITE AT 9T 3 Iqh T I HATE HLaAT 4T,
ST AT : TETGL & 9L IS HT S & Udh THE R0 FT |

FETAT & & TR & IRAL-Q0T df GHHET Zcaqur & | ST 97 97 o

TIITT FT & A IHRT HEFT o FeAThm e I FIT T0ATT 78T &, T A F I¢ |

36. TTRWTE AHEL « ST (HFHT TATET YT IT [ I Uk {fha & ?

(A) TTET-FT
(B) g

(C) FIT-TEH
(D) TTHET

Correct Answer: (D) TTHIT

Solution:

Step 1: Understanding the Concept:
g I VT Jof g7 ffad 918 Ay fafo 7 afura ufaatfas axaf @@ smaria & |

Step 2: Detailed Explanation:

ITe AN (AT & e aaTd & [ aTe9Tg STha™ 1 ST ST GigSar i T & agd
e faaanr ST fRam o

9 (96 & U ah TH AT FIAT il AR 7 [T AR (@Faarr) fofe & g ses
Sfeha o |
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& AFIT AT 9 & T T 0 WTa=T i S9aT & |
faeeT (B) foame T 91 31 ¥EaT 7, A e ¥ Ifcefad 9 o= 99T 7,

ggqfeT faeeT (D) srfus aar &7

T -fag o sfasm a2 sl wret & faw wu faferse A, fafu=i i sreat & r

HEThaT & T8 Ta-T e caqur &rar & |

37. FITARTH T FAT FET AT ? G 341 964 &' WTH 18 & AR [WIACL |

(A) BT IO =g, &l &ld
(B) @9 71U @I & &l &ld
(C) (A) =T (B) &HT .
(D) 8 T AT T fodh o= 1T &

Correct Answer: (C) (A) 3T¥ (B) T

Solution:

Step 1: Understanding the Concept:

Tg U &9 [CHIE &(q4al & M9 T #7196 & 7 H Igd U g gied &
gefaa &)

Step 2: Detailed Explanation:

(e 3, @@ IO 3T T & A1 ATl a1 S 50 HETR(T AITASTT Sl I Hld
Tl

FIASTT T FHET 9T wwmaﬁr@%wwwé’rqﬁsﬁl

TEET oY & [ g8 i 9% ek T aT TIT 8¢ 09T &l SR T AT JM8T 3T T &
ET A% FIST &l WO AT AR S 24T F1M8 T | gH fad® § -9 &2 [ &7

IET|
gfer faw T faseT (A) 1% (B) s @fdam™ & 90 &9 &7 a9 &, SH(0 qar 397
(C) TFT EMIT

qriafcas et & @@t g7 [T 7T IZI (quotes) Tga AR caIU &ld & | T (&

& T [ &l T F 0 & 3T AT TT=it § T, 1 & |
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38. T faaare & Aeifaay & ¥ T i fee wgre 2

(A) HFT TAT &l

(B) IO T &l
(C) FTfAeT™ &l

(D) fafe=T S &

Correct Answer: (A) H& AT &

Solution:

Step 1: Understanding the Concept:
g T VA | &7 #7T 619" 918 § §&49q &, A1 59 AT & Tdh AT &7 A9 7, A7
TN A fageT & feunr v I & |

Step 2: Detailed Explanation:

TERE T T T STH (g o g i« I 9, fauryae 3=t 3w a=ia 9@ e
I AN ATIE R (AT |

I §F S F ST (qaahmE §a WA §U o IR AFT JAC AT G=ifaai & T
FETar (a Vedantin of Vedantins) & 9T &1

faarate & AT o7 fo U Tfe=HT fag 81q g0 3T 399 o7 T 98id & 79 &l §a-1

RS O GHET 9T [SaqT 8 a i fag= J7 781 997 97 |

9T H AT Agcaqul ATFadl AT I &f T8 IATHAT AT I a1 7 &g M0 (q9Y

FAT HM AT FT A | T§ THT & (AT STIRTEET R |

39. A& TSIl & SMEARNTR SIHU & I FT ST G YT ?

(A) TET IST 78T o7
(B) fatshe @1 ET AT
(C) eg AAT T&T 9T

(D) -S| T uT

Correct Answer: (C) ¥&g 4T &1 9T

Solution:
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Step 1: Understanding the Concept: ‘
g T Afae faet= yat grT fafad s Ay & sia & U g1 W S raRa & |

Step 2: Detailed Explanation:

FET H, 7S ST AT &h Q1A ] & G AEE A9 &l @] 9of Tar 4T |

ST GHT I 98T &7 9T GHET' (& ) Fal A7am & AW g8 T Aeg @A il [og e
AT & |

& & AT T IC AT H SATST &7 STAT & Y qa&- |1ET & &l i die aar & |

A, AGT TSITHAT & Bl & AT A<E 74T W&r 4T |

ST TR l FETTIAT Tl & TEATH A Tl & a9 & Sa1ai &l A€ T | 99
FEFT & VA & T T TIAT AT IAL AT A &7 ATaT & |

40. TRTEITT WTYT & THA HEFTRE ST & 2

(A) gTaT 4T
(B) I fsaTe
(C) GTaahrer Tl
(D) =TT

Correct Answer: (A) GT1a¥ 54T

Solution:

Step 1: Understanding the Concept:
g o (Rar arfeca 7 wrfaer fafy= arqiisr vt & OO d@ai & /8 & d9-
e

Step 2: Detailed Explanation:
few 7T fasedt &, Qe TAT TSI WTYT & U 0T A G FEFEE & | ITar

FETAT SFET AT TETHIOT ST 3T AT 9T & 9T & |
A @d A= VTV F §ai9d &

« YATEE : 15 JIT & TWEg g cda |
o QTAHIET BIAT : I(SIT WTT & T |
o GSITAT : TIHA HTNT &l AT |
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AT, GEI SAL qiav Sg4T & |

AT TeTETH | ITHH (GH=T I HTSTSA & @i AT Il ITNT & TH

AT T IS & | T8 (HAT F aTer a1 G TWIAT H Fada arar s |

41. Frfafea A e gEg o= g ?

(A) g9
(B) fgafeeir
(C) FHfeAT
(D) FSHTIT

Correct Answer: (C) FHfET

Solution:

Step 1: Understanding the Concept:
g I ga-iT T & (Correct Spelling) & Hafera &

Step 2: Detailed Explanation:
ST oA [GheT &I [IATT &

* (A) I : T8 39 & | 8 Wo5 EIquardra |
- (B) fegufeetr : 77 sropg 7 | o fE<T 7 97, 9t fgaaett graT & |

o (O)FFfRAT : TR TAAT AN g T T8 G & | STRT 3T FHA &1 19T AT FATAT
gETE |

« (D) FSHTET : T8 AE & | G 5% HfSATS Z1AT & |
AT, [GT T qhed T § waer THlEAT &7 g = | |

ST & g+ GuT & ([0 51T A7 G867 I=IR0r HTAT AT I8 [AEHRT ST AT
TR AR AU 7 | ATy T 9 i ATt W

33



42. "GrST Wo & QAU E

(A) 98TH
(B) Yifsai®
(C)fea
(D) qifser

Correct Answer: (D) Tifesd

Solution:

Step 1: Understanding the Concept:
g X9 95T 9re% F (q9rYor a1 & Wiedr & gafaa 87

Step 2: Detailed Explanation:

TST' U TaaT=d 93T &, [T o1 ‘&2 97 ‘& ' T |

T W 59 HT F (a9 g ¥, a7 59 e dT AT /1T § |

9rsT + 3q = Nifsa

Trfsa ooz &7 317 & T TsT &' a1 st § 77 | 97 fer safe ar 997 & fasrar
TATAT &, o - qre-Tsa @nT |

o, Tar fawvor =7 ffea 71

YT & [y a9 & {0 T g aTer T oegdt (9 - 9, 34, 39, 9,

qT) &7 T8 T | S99 T2 AT & TEIT &l &7 T A &7 AT 5 |

43. 'Hg' ek & fawyory
(A) HTET]
(B) ATfET

ORI
(D) ATfET

Correct Answer: (B) ATfgd

Solution:

Step 1: Understanding the Concept:
g LI 93T | QYo a1 § gefaa & |
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Step 2: Detailed Explanation:

HTE' Ud MTaaT=a 9o &, (9T 30 Ae a7 'S ey 77|

o fauryor =7 Jifga gar s |

Hrfga aran’r%’ T W UST g AT AT AR | T ET AT AT AT 00 AT AT & |
IETELUT: T8 9T F A& ar =T "

o faeherT ST & | \TEY &7 20y '§9er 81T &, forgesr Jrg & fE g9 5 7 |

fereT ez &1 famryor = qg9m & [, 7 3% R &t | faseT fedr g & =
TR ITT (G AT a1 THhaT & | 9 - Wiiga oHfe |

44. 'Ig' T=x FT fa@vUr

(A) g

(B) g&m&T
(C) gafuATs
(D) aTferer

Correct Answer: (A) ITg

Solution:

Step 1: Understanding the Concept:
g V- ATFaar=a S3T &[99y a9+ F dafaa |

Step 2: Detailed Explanation:

g UF ATFaar=ad a8 |

T Hataa fauror g 7 | Tg 5% AT TART HIEH 3§ O Sated (wer ¥T et (Sre
o, T, A Ta) F faeryar aam & fau ffar smar g |

IETEI: g 9, A1g, 18], Ihg arfaeT |

g Weg T H ‘90 WoAT A | a7 &, [o9#5 '3 &7 =7 &7 S1ar 7 (@& g0 &7 12 |

T & Q@Y F97a 69T &9 aTel ToddT & e & T8 9% 7 &1+ aTel aiaa-r

T &, 99 98 & 91g, sfaee & ufaarEa |
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45, 'SFAAE AT (Gt TG ITGT T T T 9T &7 9T - I8 [ a7 &7 Q8 & ?

(A) ATITATE R qTdT
(B) ¥t A1
(C) feraTe s

(D) gad a1ed

Correct Answer: (C) ﬁm:@'l_ﬂlﬂ'

Solution:

Step 1: Understanding the Concept:
g I =T & AT I AT & W= (0, @&, [u) #r w59 F gafad & |

Step 2: Detailed Explanation:

T 91T H &7 IUdTeT &

1. QT YA 1 AL AT (ot a1 39T 2. AT 99Ty : F i 1h T a0 &7
T

DE) qg-w IUETET TEe ITATET T HIIT T W&T & AT Ig§ ‘F 1w’ TTa (conjunction) T
Jsra |

S areT & s A ITATET &7 AW Ud a7 (T4 e d S9ared &f, 39 fArare
(Complex Sentence) F& & | SATTITA ITaTEr ‘FFife’, T, W, T, FET' AT Frarahi
IS EAR |

fae aTer #r B9 & [0 Fetd ekt I A & | FfE are § d =1 ifE, aria, Sa-

a9, SEr-a4r, & S qre AT q aq= aTer et &1, ar 98 ({9 ares arar
Tl

46. =T 7 T ITHT FAATT T ISTEAT & 2

(A) ATHT e @ear g |
(B) @& & ENT &1 TS 7T |
(C) o Y e &7 |

(D) HTET & ETaT & |

Correct Answer: (B) 9T&a- FE AR DIERIER

Solution:
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Step 1: Understanding the Concept: .
g X9 A= (Voice) & W=l &l T5I & a9 & | aT=7 9 WA & &1 & Fgar=d,
FHET=H AT YT9aT=T |

Step 2: Detailed Explanation:

* HGAT=A (Active Voice): f&7aT & 1T 31 a9 &dT & ATA &1@T & 11T (A), (C)
A (D) H fewar (@etar &, [T &, @1 8) &l (@79, I, 6 & A9 7 |

« FHATST (Passive Voice): [T &7 [T 3w a9 & & SAT E@T & | T & 12 'H
T & ERT &7 INT Z1AT & | 79T (B) "AIET & g7 &S A0S 8" H &dl qiET &
T & GRT AT & 3 e & s i e (S ) & S an e |

A :, ATET (B) FHATT &7 F&l IS8T & |

FHAT=T T TSI T T8 A e & Fal & 912 & gror a1 F' fanrfea s ar
ST 2T T8 T [ (6GT &7 €7 :5 W T #T wra ar 987 |

47. ' U1 H Gl TG ® ?

(A) AT
(B) =1fer
(C) =1y
(D) 3T

Correct Answer: (A) AT

Solution:

Step 1: Understanding the Concept: ‘
g I ITET T T8 & Harad & | ST T Ie1(9 & S Tex & AN H JSHT 396

T T faorvyar AT & |

Step 2: Detailed Explanation:

I e & ([a=8E v I

AT + T

TEl AT T ITT & AL T {A TR & (FEar 3 =T g 8) |

AT ITAI T 0 I, B AT G BT & | ST & S T AT IR g E
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AT, 5 oL H AT I & |

ITET ol T o (10 W62 o AN H IR TS0 hT AT e A & fehy 39T T=T 5T

T qTF & | AT H F AT g I Td I9qT &, AT U 9o 91 & |

48. 'FEATT MR F T ITEI T & ?

(AT
B)

OF
ED

Correct Answer: (C) %

Solution:

Step 1: Understanding the Concept:
g X9 ST &l T8 & gefaa & |

Step 2: Detailed Explanation:

FATT Vo AT [A=35 &

3+ &g

T U I & et TN T AT B & 1 H &aT 8 |

TH A, AT &7 31 § ‘T AT & [0 g (infamous) |
TaET [aa T giawea gar &, S g (37=37) ST diar & |

T AT G ITHN Tdh G & [qAH & | 'F TONIcHE 3T &aT & (9 FHH, FAIT)

STafR g RIS T 24T & (S &, FAfT) |

49. 'ITATE' T2 H &I IqEIT 8 ?

(A) 31T
(B) 19
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(C) =1fer
(D) 37

Correct Answer: (D) 3T

Solution:

Step 1: Understanding the Concept:
g X9 ST &l T8  gefaa & |

Step 2: Detailed ']@Xplanation:

IIATHT I3 FT (T8 A I

IT + qTET

&l AT JA TeE 7 |

IT' U ITET & STt 30 G T, 'Fer, e« IT T §1ar & |

IUATHT FT T & TTET & UH FAI (clause), T HET ITT &7 G819 &1AT & |
A, TET ST ST H

T ITHI T AT SAFE [RET I &l T AT RIS JHEAT Rl G & (AT (6T

STAT &, T - ST-ISeqTd, IT-Har, INEE |

50. 'ITET T H AT IR ?
(A) AT

(B) 34T

(L)

(D)=

Correct Answer: (B) 31T

Solution:

Step 1: Understanding the Concept: ‘ ‘
g 9T T &l T89 | Gai9d & | 7T J Ie219 & ol 9e8 & AT H IS 7 |

Step 2: Detailed Explanation:
AT IT5T G T 9Tq & a7 7, (ST 3rd ST AT ST T AT | |
THH T o S | TEAT 5% a7 &, ST U JTaaT=ad 93T & |
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T + AT = IR
fae (R =7 95 8T ST 8) + 3T = d&-T
AA:, THH AT AT 7 |

AT O T89 & (10 5% & A & ISR Al T Sildh KW [ 49T Als e

qof 9168 AT 9T a9 (&7 & | T&T 8T § 947 8 I 9 a9aqT & AT U a1 M8

a7l

51. e wror A ER-RegE T

(A) I + &

(B)IT: + &
(©) T + feer
(D) IT: + &I

Correct Answer: (B) I7: + f&a
Solution:

Step 1: Understanding the Concept:
g v aty-fa=g  gefua &, faery =7 & faqer afan)

Step 2: Detailed Explanation:

e et H§ faar afa &)

o & ergE, afe faa T (o) & T8t ST &7 07 [T & 918 &l S99y &St (337 &l qIE,
ST, QIS AW, T, T, 6, T, 8) A, AT (e T e & T S e |

T8, [ + fga

- e T E TS T H e R

- fqET F aE T 7, ST U@ q9IY o & |
AT, [aE T () ‘= H§ a<e7 SITua
77 + frw = [few

ot afer & =1 i AT ST o A AT | R S - HAIEY (A +8Y), a9iseT
(@T: + ), TIMRT (T2 +2T) - H F&T FET AR Ear 2 |
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52. 'MATAT' U2 A0 Gia-fa=aw
(A) TAT + AT

(B) HIET + I

(C) 7Y + AT

D) A + T

Correct Answer: (C) Y + AT

Solution:

Step 1: Understandlng the Concept:
g v aty-fa=ge a gefua &, faory = & gor @ gha

Step 2: Detailed Explanation:

TeATAT o8 § T & &7

Tur G0 &7 FET & 6 99 574, 9/3, I7 | & a8 &% (4= & A0, ar § A T,
T, AT H FEA AT 8 |

TEI WX H a9 H ST 8, ST I+ T & | T8 T I G AT HAT & |

fo=gT Fva a9

Y + AT

cTEA M AT H T 7 |
o T oK & AN H W1 &7 ' 7 |

e & o E, T+ o e AT  a T AT R
A + 3 + AT — Y + d + ATAT — A=qTAd
o, T Aty -fasge T + e 7

U G AT T89W & [0 62 & 99 § ' I7 ‘T | S T8l AT AT &l o |
fa=gT Fea G0 oy 1T &l T & 39 W T (T & [@0) 71 '3 (@ & fow) &
T 9T & |

53. 'qTe Wex T Gi-fa=eT ®

(A) IT + 31T
(B) 9T +4aT
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(©) 9T +3T
(D) 9T + 24T

Correct Answer: (A) Tt + 31T

Solution:

Step 1: Understanding the Concept:
g I 7 |61 & U v, T ghe & gafaa 7

Step 2: Detailed Explanation:
sl afr & AR & @ ST @, U, oF, 3t & ag ars (= s s ar:

* T AT I ET ST |
« T AT &7 AT E |
o T &AL BT A@T & |
o TS ETATAT & |

TET Wox § 'S &7 ST T MRN8 (T + 3T + 1) | T8 Ff 3 F a9ar 7|
A2, SHHT AT-far=gg &

UT + T = ITaT (F&T 3T + 37 = 39

AT a9, 'TaT & ST -fa=gg I+ 31 G + A =) FraT & |

FTiT €@ & TB9W & [0 Ie8 & S § 'S, ', T AT "G &l <qfT &
ot | ' AT T (FTST AT aTAT &) & (A0 fa=ea & T 91 =1 (FST q1a3r
qTeT &GY) T TART &7 & |

54, fr=forfae ¥ FIT wsg SESI G4 HT ISTEX0 & 2
(A) TSR
(B) FIRfH

(C)Tafy
(D) Fw=er

Correct Answer: (A) dallT

Solution:

42



Step 1: Understanding the Concept:
g o af & Wat (ST, &, faa) & wgae & "@efaa 7

Step 2: Detailed Explanation:
MY Lod & (Ao ar i -fa=gT fw a9

* (A) TR : THET [T=3% & T + AR | TaT T8eT T & 3/ F A () F HA
Y (M) T &7 ET 8, 5699 T &7 T a7 @I 8 | T§ Ao 619 A7 IS8T 7 |

. %agﬁa(ﬁq-: T fa=ge & a7 + 3\ | 781 far () &7 = &1 =T 7 | 9% faeet

|

« (C) 3TY: sHaT [A=gT 83T + |V | T8T ‘o7 + ' (A& 91 a9 W/ & | I8 qr &<
gfr g

« (D) fremer: s fa=gs e e + son mei o ) & ' ar =T 7 | 7F fawsr afy
7l

A, FAA TSR & SH AT T HT ISR 7 |

g gfrgm ‘ilgehl':{otiww T TETET AT 4T S AT AT, AT q8 HIHFe : i
| BT & | ST T + @ H G AT T H q& 4T |

55, frfafaa 7 a9 o8 FURT G919 &7 IS8T & 2

(A) I2TeT

(B) TITIET
(C) WHIaY
(D) WTaeTeT

Correct Answer: (C) WHIGY

Solution:

Step 1: Understanding the Concept:
g LU AT & Hal d 59 & G909 & | FHIRT G99 § 95T 98 f99ryor 7§99

e faersg graT &, AT ST ST H SUHH-SHT ST EET AT | |

Step 2: Detailed Explanation:
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* (A) TET: TG (g & SATe & W | I8 TSI N aET |

« (B) TR : 9T (g & T9aar se® &' | 9867 9 TuT <99 §, (q: 98
FTANTT G & |

« (C) THYEY : T [IE & "W & 97§97 | T&T 95T 98 "W (%) fauryor
AT T U Tvay fqursT & | oF T, I8 YT 99 2 |

« (D) WTARTH : SHHT [AIE & T T &1 | ST 98 T &, 37 : I8 58 999 & |
AT, WHYAY FHINT G99 T Gl JSTE0 7 |

FHITT GHTE dl T84 & (AU [aE F0ad 999 7 90 3T & G99 & T IR S

o | e % e Fear s, ar a8 FHINT 999 & | 99 - WH & ST $997 |

56. "JENS' W2 I GHTT-[TE FT &R 2

(A) Ia¥ AT &
(B) a7 & A

(C) Ia¥ & @ o=
(D) IaX &7 T

Correct Answer: (C) ¥ & [<TT 31T

Solution:

Step 1: Understanding the Concept:
Tg LU acgeY 999 & [ & gafad & | g -faig &7 ord § 9T 92 & 9=
& e faegl & amr STeraT-ofel T &3 |

Step 2: Detailed Explanation:
TAIIE % &7 T & '[a¥ & [GGRT & SR &1 aTeAT I | T8 I 'Tq7 & (AT &
A=Y fadedt & fawevor &

* (A) Jd¥ 3T W& I5 &5 999 &7 [aiZg g1, S ed | |
* (B) Ta¥ & Meh: SH&AT 30 N7 "I & EHT I AT "I | ST &I1dL I | T8

TR T e F FaT fag &l & |

« (C) IaX & [T W& : I8 S aegey &1 (g 7 317 3rT & gfse 7 999 I9gad
& | 9 &7 M AT dRr gAY § |
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« (D) YA T 9Ma: T& FH dE & (5 &, A7 TaT 60T & |

&3 I SGHT faTg T &7 W& (Ha aegey) W ffar star &, dfe faw o faseat &
AT & [0 9 gae g 7 |

A -faTE FTd a9 GETES W58 6 JoT 3T & G AT I Ha9 &f a9+ arer
qar aad (e & TART &Y |

57. "WIIHT' T fohd GHT &l I8 & 2
(A) T AT

(B) SAHITITT THTH
(C) 5T T
(D) g—g 9°q

Correct Answer: (B) ST ™MTT GHTET

Solution:

Step 1: Understanding the Concept:
TE 9 GHTE il T8I & Saiad 7 |

Step 2: Detailed Explanation:

[T IeE "I ST 3T T Iex & AT F a7 7 |

TWITHR = [T + ITH FTHT & T2 ITHN)

e amTiEe 9T T TEET I SIS TSI AT SUEI (SE- TUT, 3, WY, T, o orf) &,
T FHAITT GATH FHacATdT = |

e T8t 56T 18 WA Ud ST &, SA(AT I8 TSI GHE T ISR 7 |

Tfe fRET e T Y& T, A, 31, W, 9 ST S99 | &T, aT a8 ATHIT
FHIT AHANTT 9 ZlaT & |

58. "N Uo7 R aTTET GHIS T ISR & ?
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(A) FF TT&Y qHTE

(B) IO A& THTT

(C) SATETT acg&Y qHTE
(D) ATIRIIT TTET THTET

Correct Answer: (A) &H qacy ey A

Solution:

Step 1: Understanding the Concept:
mew%mﬁﬁwﬁmﬁmisﬁmﬁﬁwﬁmﬁrwﬁﬁ

Ald & |

Step 2: Detailed Explanation:

T T 968 & qHE-[E &

TS &l A qTAT

7o fmg H§ &r favfa g st AT g g | ' fovfea e s aRE @rarar | |
T Tegey a0 & 5 ana d fifad @r T AT 2197 7, 39 &R oY 99419 Fad & |
AT, TGN FH ST THT &l IS 7 |

AcTEY GHE & STHE &l T8 & (A0 TS 92 & [aE &L AW a9 (& @
TG T [AHFT & AT 53T & | IHT S & AT T FHATH & ATH 8097 |

59. 'S WIHT [ & Tasl' ATl oq fr oy g

(A) TTH TST AT T BT

(B) ATHfEa a1 & 4TS

(C) femmaer 9o

(D) 3Tt TST A 9T A51 &1dT

Correct Answer: (C) feaTa<sr o

Solution:

Step 1: Understanding the Concept:
g X9 AldITad (Proverb) & WTaTY &l G & Hafad & |

Step 2: Detailed Explanation:
T AlRITHT &7 ATTeadh 30T 7 [ A5 ATHT [ (ST AST &1AT 8) A7 @T o, ATeheT T
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(TS FET T & AT HIS &I 8) T W &7 |

TEET AT =7 & forelT ST 05 AT F FF FAT ATRT 36T H AeAa-gordr Srer 38
T & F T & G HAT | TE T THE AT TGS a7 FoT Ta T 7 |

faw 7w fawedt &, 'fe@Taer 699 S 1T & 999 9eld €7 F e ear # |

FATRITFTTT AT 3T GHSHA & [T ITeh ITToadh 3 & T FATHT ITeh ATEI01R IT T2~
drarcr s 3Ty I fa=m &7 |

60. ' I [T G EAT AETaL AT 2rf &

(A) g Ha T
B)fEr T gMAT
(C) ITTeT &1 ST
(D) & & a1 78T

Correct Answer: (A) g 991 3 =1

Solution:

Step 1: Understanding the Concept:
g T J&TaY (Idiom) & 3T § HaTd & | ETa¥ &l 37 WTfoaad 7 &[T AT a1ar |

Step 2: Detailed Explanation:

T 9T @ Ha §FT HE1a &l TN 39 (efd & fear Smar § 99 5 a=fed fmer o
&N A1 & I, T ST AT 39 T F &l fFg The o |

THHT HaH GEId 3T 7 'Y Ga T AT [oRelT FIH &I FIT & I &FT |

JETEIIT: "SR IH T THYT H AT A &7 T qIW & |

3= faeeT (AT & a2 §MT, TITST &7 ST, M@ & AT T&T) $96 9al 31 T&l & |

TETAY! AT 3T I AT H TANT § T ST &7 AT & | [FHT qarae &r o qi=d
9T I T aTdT H AN §ilh a9 |

61. fE=ET 7 SATTa® I & fovair G&AT R ?
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(A) &
(B) ST

(C) wier
(D) ata

Correct Answer: (C) 919

Solution:

Step 1: Understanding the Concept: ‘
T8 T [T auHATAT & S & aTeer F Ge i & | AT S AT d &1 & [aTeTah
=TT AT A HE ST T aEarE |

Step 2: Detailed Explanation:

BErF e SsHr & T9 a8 @, T, T, T, Ta’) | T qI & q1=9al a0 AT
T IFT S FgeArar |

T I AT ® T &

. & &)
2. 3T (I3
3. 07 (T-41)
4. T (T-FI;N)
5. ®/ (T-)
A, FEET F S ATTa® quil & §er SeaT 9 & |

ATATIES U T THHTT (TTFAT 3T8TY) HT FET ATAT &, FATMR T STIT-3TI T 7
Tiee S 9T AT & |

62. ‘& fRTauf FAT A ITR ?
A&+

B)F+Y

O &+

D) +37

Correct Answer: (A)& + Y
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Solution:

Step 1: Understanding the Concept:
g I [EET qUATAT & ST A1 &l G- § Jataa & |

Step 2: Detailed Explanation:

B v IR ggaq e §: &, 99, T, 9

9T Ueh S ad Sl & Sl &l S| & HeT F a1dT & | Sl Far G¥=-r 8
T EATHATY) + T =47

g () T8 THTAT & [ & & FEd (39N 7 |

faseT (B) TAd & #4911 S95 ‘& T & (@ + 37) |

faseT (C) =% (D) T 0t &7 AT S9N & |

Quick Tip

AT HIFT AT ] ST I
H=F+Y
W=q+T
T =ST+3d
IL=9+7

63. ' FT IRU-T &

(A) &S

(B) ATl
(C) q=HT
(D) &

Correct Answer: (C) IE}IT

Solution:

Step 1: Understanding the Concept:
TE I qUT & JANI-2 & Jafad a |

Step 2: Detailed Explanation:

ISAIT-SI &7 3y & fo [T aor &r aretar a9 foregT 79 & fofe wmr & eqst T 71|
HZHT (Murdha) T & MY AT & HIU W &7 (AT (§dT 21T & |

T quif T I=AWr 76T F 84T 7, I8 99 S & | S4H ITHA 8
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e T R
« FOT; TAT (, 3, T, 8, M), T, AT
AT, o AT I LT |

I=ATU-LIFT & G H T &L
S I, M, §-a90, 5

aref : 8, %, T-99, T, 97

HaHT : %/, 49, T, ¥

A A, A, T

ASe: I, F, 79T

64. FrT I T T TR ?

(AT
B)¥
O %

DT
Correct Answer: (A) T

Solution:

Step 1: Understanding the Concept: .
g T G IR F HEId 8 | §of &7 § &9 & (el Jeaf (R o= &ax &

A H A8l g5 8 |5 500 S M dgd & |

Step 2: Detailed Explanation:
Erdawga &R o, 5,9, |
AT TR F AT T ad 5
o« S T : AT F7437), § (F49), F 319)
o GYFT T T (37+3), T (30+T), 3 (31+3), 3 (37431
few o faeear =

(AT : TR TH T @R |
* B)X: TE TH A &V R |
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« (O)F: I8 TF ST &7 |

* (D) T: Jg TH {4 SR |
AL HEIITC T E

e T fdd I &: o, §, 3, | T 999 I @7 & AN §9h I=ANT F da9 FH
T AT & |

65. fTH s Ty ?

A)F
B)T
(O]
D)=

Correct Answer: (A)H

Solution:

Step 1: Understanding the Concept: .
g QI AT & aNRLT F GG 7 | F AT T AT & T I=aW0 H 79 &
U X & T (F) a7 Faaar )

Step 2: Detailed Explanation: _
FE<T quHTeT & I S S WLV, 6, T
=T fadedt &1 fageryor &

« (A) T : I8 UH S AT 7 |

« (B) T : I8 UF AT & T & |

« (C) T : I5 UF &9 & & (T-a7) |

« (D) : I8 UF 99 AT & (F-A) |
A, T R IAC T
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Quick Tip

ST & o THaT &l TTE T4
I (25): & H H dH

JATTT (4): T, L, A, T

FS (4): I, Y, 9,8

66. T[T AH [HE IRT & A HfqT & ?

(A) T[T
(B) Fregor
(C) TrFmmT

(D) FSHETIT

Correct Answer: (B) o Jr! U]

Solution:

Step 1: Understanding the Concept:
T8 L BT arfeeT & Wieaare &l fred-awrsi 2 396 THE S99l F gafad & |

Step 2: Detailed Explanation:
fTaRTeT &l {8 &7 | &7 9Tl F 12T @y

1. GO YR : $IAT & TR € il JIEAT (ST - T, FORTTE) |

2. fior ¥« SvET & O, uRfEd € & IIEAT |

% A &9 Sl 7 3997 & [FU&R, U, Agd €T S STEAT 90 af [T | T JIAT=ir 3T
TTELT ST & (GUrET & | It T T 3T Jiad fr a7=a7 7 |

FRTT ST T T &7 ITETETY § - TEERT (AT @) 3T AT (R &) | TE
TRHATIT MTET & T T 9 ®iq o |

few o faweat &, "o qee ITgEd T | S E AE S IS -AWT & TT
FATE

TTFdhIeT & HIGFT Al IThT FIA-IRT & SATAT G Sl JTE A | [T (F=aT-
ITh): FEIE, T, YaTe; AT (REETT: STEET ;  Ier (@TETE): Jore R JIr

(FSTITT): T, HIETs |
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67. "QHATIeHT fFaar =T R ?

UNRISEICED
(B) THETT
(OCIGES

(D)F faemeT 9

Correct Answer: (B) T99T

Solution:

Step 1: Understanding the Concept:
g LI AIFaaTe & TG - S A ITdhT =T F G & |

Step 2: Detailed Explanation:

AT FONRTHT ITET & g ST @ Al U 9T Hid & |

g IRT B& & [ET TS & 07 60 TH § [¢ acd AT &I [haT 4T § | THE il 37+
g, =T Gl a7 |

T YT GIFT AT Rl & (AT (GO € F S 05 |

i & A RfGIT AT IThl Th-al a9 TG, =T df G a1 I8

NI - TEA: HATEEHT, G GG ; IR o a0, favg & |

68. TR WIN® HIqAT (haq Ghia g ?

(A) THET 9957 &
(B) ST F=19E &

(C) T TITT &
(D) THATT THRHT &

Correct Answer: (A) TZHHA e T

Solution:
Step 1: Understanding the Concept:

Taafaa &
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Step 2: Detailed Explanation:

I IV RfqaT HET ST gRT T & |

g HIGAT I GHET HIA AT M7 & SI0E "HAGT 9467 § dahfad &f 75 & |

T HGAT 7 Ffq T 30 H (qe9 g1 & Jed e 9 a1 o7ad i & 07 sqwur
AT FT AT AT &

ST e H &1 7S Hfaareit & QR (AT 3 e frer-ag & o 7 &) F wfadr

& IR=T & &7 I¢ AT A8 T, FFi1h T8 AT TraT § I57 JA1ar & |

69. T AT QAT F&RTE ?
ONRIRICED

(B) @@

(OXCIGES

(D)gﬁ‘m e 9

Correct Answer: (C) 99 <

Solution:

Step 1: Understanding the Concept:
g o Ofaarer & &fadi 3 3= ar s faferse surfuat & a@5faa 7

Step 2: Detailed Explanation:
ﬁmgﬁﬁmw%mmw#wﬁw (T &1 9I9T) & A
FET ATATE |

I HAATA H TH a&f T8 A4, favg & dae a7 . Fege oF & arfds
srfveateT faedr & | G979 & T I9ar OF o Jiad 5 a&d@T, ar 396l ISt & 7
I a7 3T |

T THEEY &S - 376 AT TEHI 3 "TH &l 90 T g Far & |

A RIGIT AT &7 T8 IUTTHET A A€ T | - "TH & 9 - JH e, ‘HeT FwreT

A - HIEEE, TR 6 GEAT ST - T ET 94 |

54



70. FRATTET T AT T {6 T F g=AT AT ?

(A) fage H

(B) 7 W 7

(C) =T J

(D) 3999 (STVES) T

Correct Answer: (D) 3939 (3TES) §

Solution:

Step 1: Understanding the Concept:
g 9T BIATAR & T ST GAqUHeT 9 & SaT-98=9T & gaiad & |

Step 2: Detailed Explanation:

TR & GHAT Fid &g A Tl GEAAEHET 9 AT T 20 7, 1900 FT HIGHT ATHS

Tl H AT AT |

I qHT TE MG STCHIST fotet, @& T a (United Provinces) & f&&aT T |

%ﬁ‘ﬁ'ﬂﬁ,Wﬁlﬁﬁ%ﬂﬁW(ﬁﬁ@dd T gl STaT 9T) T
|

AT, eI 397 I (ITES) 7 |

THE A@hT AL HGAT & ST R TAH TT & G2 J 1S T, F ({0 TH7T

& T ST & HATY 37 0T 98 9 & |

71. YT 6E feeehe’ T S & g oT 2
(A) 190550 &
(B) 1900 o &

(C) 19110 7
(D) 1908 To 7

Correct Answer: (D) 1908 Eo &

Solution:

Step 1: Understanding the Concept:
g LU e dwiq TR g feaae & siar-af=g & 9afad s Tareis 0T 7 |
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Step 2: Detailed Explanation:

T g feTde & ST 23 fqaaT, 1908 $o &7 fagw & ST e & faafar e
g T

T (&3 & UF T o9@d, H9 T FE-TaE T | I8 TeIHw(q & €F F T TET J1ar 8 |

& & 9% HE wfa T (FEva TR, ga&id f[Eamer Fr, gaaeseT 9,

HETEAT gHT) 3T AT TR caqul R qa T T [T, ST S & T AT JoF a¥ I1&
T TAT il g5 F S9N aMT & |

72. 'YL W QT AT AT ?

(A) FIHT AT’

(B) GT=9&<g g & aroedid= ‘5™
(C) BT SITe il ‘&g

(D) FE=E §TAT St =T

Correct Answer: (B) =95 e N H & aTeed &= 'S5 d

Solution:

Step 1: Understanding the Concept:
g I ANTEE & Tadd &fd T & 0 A § dafaaq g |

Step 2: Detailed Explanation:

Fdrarfeer § aw awas & S AT TANER & THE ST S50 & I 179 g -
HCERANC R IR IDE R SO A

AT ITHT ST (pen name) & | 37 (AT AT ATH ST IATEL 9T 3T ITa0 TG
TCELTIT T |

Rt wfeat & I (S - e, s, o9, OEe) ©Eg |, 396 70 A
HIIT I1E TH |

73. ST, AT A TIAAT & (G AT FAT ST ST HAAT 1 T aiT & ?
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(A) FTETTT

(B) ATeah? 2T [Re
(C) T J&T I &eaT
(D) 5 F &S 8l

Correct Answer: (C) UF J& &l gcdT

Solution:

Step 1: Understanding the Concept:
g T Riqaralr i [qYr-a& (Theme) T T8I & oI & |

Step 2: Detailed Explanation:

* (A) ITRIC-F : T FHfqdT Udh g=d & &7 T T FIA & JEIAAT HEY &l ST
B

o (B) FEEHT TR 6T : T& FHfqar dfd dl I AT @ITeT) & T T8 TH AT
g & A8 T J&f ATe A Al ST &l Had wLal & |

« (C) U &7 &I AT : I7 Fa¢ AN R I9q U LAl Hiadr & | THH &fT
U& YO o & §e A & UF 5cdT & & & 0eqd & &, ST TG00 & (7T,
IR & HIT TH(T T AT & ged RIq AT TAAT & Hahe dT ATF & |

AA:, T &7 T §AT FiqdT TITGLIT, AT A AT & (G197 Fir (a1 7@ Far & |

TETHRTH & THT HITATSAT & et (T AT AT A SS9 & GHHAT T50 A5 a0 & |
A ([qY-a=] I STRA AT &1 ITL AT SAEM &7 J1ar & |

74. QT & TET O &, Igdr 4T - R fqarfrafea & 2
(A) feerfemr

(B) ST&IT-T
(C) ATEHT TR

(D) EHTT HiT

Correct Answer: (C) ATEHT JTHIT [FT

Solution:
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Step 1: Understanding the Concept:
g X9 HtadT & Ifaaat f 5 &€ 39 Ga0 Siadr & e & gafaa & |

Step 2: Detailed Explanation:

T e STaTHE a9 g7 T ST ‘ST ATSHIT /e #r 8|

T HIGAT & HT AT T & A& T T AT ST & Ihiaad d1ed (I & @,
FECT =T, T8 & a1 fre -7 -ffdT €7 § &t o i 197 S=a7 09 idTl & | I8 dfeT
AT & TETHIOT TR T Uah Hav (oae wega #dr g |

g wfaarstt & JEATAr a7 96 A8 cqq0l ITFqar & g @ &l RIS A |

O dfeagt 9T AR AT & & &9 H Hag (Hadara |

75. 'STYC-TIT WG RfqaT H 9 &7 '&' Sgl A8l Aear ?

(A) Fassr#
(B) THeT I
(C) SrEe 7
D) TS H

Correct Answer: (C) IHga &

Solution:

Step 1: Understanding the Concept:
T I IATHERT §HT A= RfqdT ST f favr-aeg & o faferse fagwr & g4
foe

Step 2: Detailed Explanation:

FHITAT ST H FATIALN T = T & Al GIE Al TURET AT G5 &1 ATHS
AT FTA-AIS TR LT FEar & |

HfadT & aqmaT 74T & R ¥ 7 & FgaT ar §, W a8 Foh A€l 8 | " G d v
| AT ST 5 & | 7T T %rcug T T %ﬂ IS 9T Aed AT g |

HTF, T H I H A0 50 HAIAA ehgdl - WWWWW%‘ 399 TEr
qYAT & ST " | &fGdT H &' & (A0 "Srae § T80 dear a¢ & &' @ ar @nr g1

&, ST G & EAAT FfSATS T T9dT & |
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TIATRICHE Riqarelt H a7 Tdld & 1 & GHAAT TE & | ST Hfqar 7

W& AT TSI ITAT =4 & §9Y &l 9Tar & |

76. AT ATRAT e & AT dramr s T 2

(A) ST fre
(B) &= e
(C) 9= e
(D) 7Y firen

Correct Answer: (A) e e

Solution:

Step 1: Understanding the Concept:
g 9T TEg T &9 7 qTRAT fedh & SiraT-Ii=a § qafaa 7 |

Step 2: Detailed Explanation:

TAL HTRAT ek &7 ST 0T (AT I -0, 31 e TT0ed) H g2 4T |

I (AT &7 A1 TEw e (Josef Rilke) oIT, ST Ush YoAd ST o | IT6T AT &1 ATH
Frr (fram) dest o)

AT, TEr 3L SEE e & |

eI H WTHA [l d@at & T SiaT 9= & 79 fagett (39 5=, 3T,

HTaT-faar, @ =) T = &7 918y |

77. o S AT AT R
(A) SR FT
(B) ST &

(C) IdaTa-T
(D) =T HT

Correct Answer: (B) STt
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Solution:

Step 1: Understanding the Concept: ‘
qg I W&k & 3 F Hafaq &, e 36T & Jfiar Agcaqur & | e § FEia
qfeza &, oir shvaa: o 7

Step 2: Detailed Explanation:

T 9 oreg ar VT & fAese aaT 8

CRRRED

gt 1 U IvET & e oy & e ar e

'SR T T & IAT AT HeR |

o, s &1 T & v & e o faer feer s
fer o fararet &, wreRTE @7 AT TET I & (S gET) |

' = A ST ereae fRAT AT RN @ e o B 9 - i (i & ), frae

(I & =), Frosey @R & T

78. WHAUT SASHT [dhereh QIcHTET I I=9 (W1 & forw sARar sk deer 1w 2

(A) TATTAIT LI & TR 90
(B) fEfemT Twr & eamsT 1@
(C) HATS LI & TR 9T
(D) TSIET I & TUETET IT

Correct Answer: (D) TSI NI & T@IF\'TI%? q<

Solution:

Step 1: Ungerstanding the Concept:
g O 1. IHUT FATSH & S9N ITah! (ST F TS Teh Hgeaqur Ulaarida au

I AT & |

Step 2: Detailed Explanation:

ST, HIHT aSHT U HHTal ST o, Al AT RfSATSAT d ®EO I (AT I=F
ForedT @ AT Hfvawer o7 |

Tl TAIT T TEAFERT TIIT & AGRIST AN MEARATS AT - 3= SIadid
& &l |

TET PTagia & 98 4 1913 7 3= forerm & fAw@ sl & sretfaar favafasgmes o
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AT qTE H AT Shet HAH SR HEFT T ITT |
AA:, T TSIRT A o AT T2 a8 T o |

g ATFadl & SaT H qgcdqur 7S o aTel AT A FeATA @l IS @11
TIET, FE T T qHT J A7 avr-fafars aoramstt & 9= S & |

79. 'SrATICH® AT & AT ATAT cvverennes g 'R & Fr a2

(A) TS faram
(B) Efgarar farar
(C) &g & faram
(D) I5ITTTa foratT

Correct Answer: (C) g & fararr

Solution:

Step 1: Understanding the Concept:
g LI HETCAT T & (raim-HadT fqumr 9@ i 916 forem =i geafa & fo=r
AT Udh g #TT 7 |

Step 2: Detailed Explanation:
HETCHT T = 9 AT AT WY & [9reT & aredias o1 9€ o [T | 39T AT 9T

fo == farerT Faer feamer 59 o Sefue faem a& Sifaa 158

TS ToredT 3T §5ld H T o €T Fgd &

AT (e § AT AqeT g8 v faram e

ST 3 ¥ [ foreim TET EFT SR W ST SRay & i w7, Afas geat a@v fawe &
A FTFT Al TH, ATEET, 3T qHF AT AT HAT [F@TT |

HETEHT T & forar-asT & g forgeit (G- Fiay for, =g & fora, srfgas
QIO &7 T8 T | T Ik (et WT o &l GHSA T H§ G819 &l & |

80. STITEN T MG & AT A & ?
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(A) & |1 a9 arrs |t
(B) &Y &1 auT faeraa &r1
(C) |Tfe §HT TUT HAATTEH

(D) ATTEH gET TT TTHH

Correct Answer: (C) 9T g'a_ri‘ TIT AT

Solution:

Step 1: Understanding the Concept:
[\ c N g e
gg 10 gdi—<X |i:|3\|( gl 9 d Hlo lddydin ﬁ'iqldd'a %, Gi' adls dixh <

fafeaeaTs |t & StaT 92 TR 7 |

Step 2: Detailed Explanation:

qTe & qATET 4T § [ e (Fferedrs @t & 9999 &7 919) 27 396 9T I
&T FETT AT9T H 9T |

I T HTHAT (ATHTS) TS, TETE aTed o 07 9 favamy #few § we=rs awire
o | fafaoaTs |t T IEATS dF IO AT E=rar forar 3=t & foeir |

IR HTHTAT & T GTia® ga 307 eflaeqr 'faemadr |

AT, G IO (O) 7

ST 9% AR ISt H H% A Tad & TRAT & Gaedi A & & ATHT &l T

T UE, T ITaT 39 SHTad & STa- I I8 T 81T & |

81. 'Y &l T=&T" ATIAES & [T TH Uk &

(A) fStrsT

(B) T:&T
(C) TF&ET
(D) f=ar

Correct Answer: (D) fer=aT

Solution:

Step 1: Understanding the Concept:
g I qATFAT & [0 U 9rex’ § Gataa &, 9w us 90 JTa &7 UF Ie8 5 T Se]

BT e |
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Step 2: Detailed Explanation:
AR o MU fawedt & o1 &7 FHet

 (A) ROTNT : AT frE==r

o (B) THAT : HIST & (@) & =57 |

* (C) TYRMT : frdT & 3T g &l &1 T faarirar |

o (D) foreqr : fordT g &7 I & T T=a7, [0 € & @0y a1 9T & 5= |
AN & ST & (A0 999 ITgFq A 91 eg Taear &7

TG § Harad ATt & A0 UR-SIeaT &l 9T a7 of, 96 - [Teiiayr (ST &r
T=), THET (\rer & g=a), framEr (i #ir g==) =

82. "B T G g% TTES & ([T TH I &

INERIEIES
(B) 99T
(C) HT T
(D) TUTETT

Correct Answer: (D) THTET=T

Solution:

Step 1: Understanding the Concept:
g I | qTaI19 & [0 e 9reg’ 92 3T 7 |

Step 2: Detailed Explanation:
TRl ad T G & 3 & o= T fam ST g a1 o avT aras |
TS (AT

« (A) FUTHITHRT : ST & AT
o (B) HFQTET : ST ATU &1 & VT &1 T Teh (3TS[F AT T A1) |
« (O)gqH : e AT e

« (D) TUTETE : TRT qdh ATHT ST Jeh IT II7 (6T ST HE | (AT &7 30 7 [T 916w
a7 O fRar ST aEw) |
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A:, MET dh T G’ & (70 GaT I3 TAETT 7 |

TUT' ITET AT 3T F AT E1AT & | §9 AT S+ aTed Iz & 37T WA & |
Tt (Wfad & ), TUTatT (AR & S199w), TumErsT (@ & SaT) |

(D) 3T

Correct Answer: (C) &

Solution:

Step 1: Understanding the Concept:
T8 v faamT (faadamds) s g gafaa 8|

Step 2: Detailed Explanation:

TS T AT EE@T & I AT IS H a9 FST' (senior/eldest) |

THRT A1 [AAH Wox Sfse grar s, [Saar oy § SHT a7 9e § 999 ST’ (junior/youngest) |
7 fadeT:

o (A) STATIHT : T &l Tk IITAT T A1 |
« (B) TaTa : =Tq (A1€) & F&of 91 |
« (D) IS : Tl STAT g 3T (TSTATS) | SHHT (qATH ‘AT (T H SAAT AN AT & |

faeTrT srex 59T 99T =AU &lfe & aid & | '5orse’ (fawvn) &7 faene sfse

(Fa=Ion) &1 | ST (|3 &7 (a1 (|5) 8T |

84. TIRT' s & faa\ &
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(A) AT
(B) 3mMITHT
(C) s
(D) ATE T

Correct Answer: (D) AT

Solution:

Step 1: Understanding the Concept:
g X9 f[aaT oes F gafaa & |

Step 2: Detailed Explanation:
TG 968 &' (TST, YT I8 § a7 & A ST 30 TS99, W9 T 8T /1T & |
THET (AT Ie8 AT &, AT AT (FIT, ) IeT a4 & 3T THAT 30 FIeTa= qT

FdlIT BT & |

HA:, & — A, AT TTT — AT |

3G, [qA We8 7 &L &l SISl I AT &ld & | FE AT JoF Iex (14
T&/A) T @G TAT &, AT 3T ITH a7 A& (THI/ATET) & [GArT &7 6T 3=
T Hhel & |

85. "W s& & [\ &
(A) ATfcas®
(B) frse

(C) fa=ma=r
(D) e

Correct Answer: (C) fasman=r

Solution:

Step 1: Understanding the Concept:
g I (g wrex & d&fod 7, a8 SeT & T e @

Step 2: Detailed Explanation:
ST &7 3T & U &1 SAT(q &7 JT 'UF &7 2 &7 (homogeneous) |
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TaH o STERT Y 9T (AT 3rex I ET Sar & |
et &7 3T & ‘5@ ATt &0 a7 =T & & (heterogeneous) |

A, T & @Er g fasa=r 77

o7, I, T, T S ITEA AT TN AT (e Ire8 a9 & (AQ f6ar Sra

HELEERISERISASISIRIESISIRE

86. 'TLEIT' & TATAATET T2 &

(A) FTIAT
(B) TR
(O) fa e
(D) T=ZIrET

Correct Answer: (A) I

Solution:

Step 1: Understanding the Concept:
g 9 TEaNET (AT ) 958 F daiad & |

Step 2: Detailed Explanation:
A few T faehed T &7 faoeryor &

* (A) IEUET : Tq: + AT (AW & 9 [oTh) - T8 TEIT A1 AT U T A1 & |

« (B) ST : TG + T (A & AU [STEaT) - Tg MW [ &7 & =a=T g |

« (C) faaex : faw + 7y @9 & 97 fo|h) - a5 s fore &t wwiea=T & |

o (D) TvET : T & fo@e (A7) 9 e - 7 e fore &1 woigea=r g |
AT, TEEIT & FaT FEFaET TG 7 |

THE AT & TEEEN o8 AT IAAl (AT (S T, ST,

AR, ATEAT) T ATITRA B & | §78 G & T8 T&-T A= &7 Srar & |
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87. "TAT' & (AT TG 8 &
(A) ferzmmar

(B) AT9H

(C) FIrr

(D) HETT

Correct Answer: (D) Il_ﬁ;T‘T

Solution:

Step 1: Understanding the Concept:
g I I IR § qEi9d g |

Step 2: Detailed Explanation: .
TSI & TTIETS T Ie% F & ST ST IT T & T & & |

« (A) f@m™T : 77 Ofqe &1 @EaETr |
« (B) A9 : I8 TIET AT AT T THFI=T & |
« (C) 3T : 75 'fog (@) &7 w=@ga=T & |

« (D)HEIT : HET + T (H&T &7 30 & TAT, T & 3T 8 TAH/Tad) | AT : TaIT & 374
& TR T ITAS AT AT |

AT & A THAE & - 9, T, T, JIi, G970 |

AT IeRT Rl GHET H TTE &Y, TH - AT & T TATEIGET Udh AT, T & TT
I T 917 |

88. 'gd" A A IAET AT §
(A) BTSSR

(B) gfadar

(C) TIE

(D) &

Correct Answer: (B) &fgar
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Solution:

Step 1: Understanding the Concept:
g T AT ek § 949 q 7 | (A€ VAIaY § I8 68 97 & €7 H TAd qiavd
& H&AT &, e [qhedl & AT 9% I8 9 &7 [=Ha=T 78, @) |

Step 2: Detailed Explanation:
A few ww faehed T & faoeryor &4

¢ (A) BTEH : T8 GHET (Gold) FT T Ha™T &7 |

« (B) Gf9@T : 78 'FF' (Sun) F T THE DEAET 8 |20 H GF & Giqar Har @ g |
« (C) YT : TT: + T (S &1 aTAT) - T7 'TeeT (Cloud) HT TATIET=T & |

« (D) R : & T EMT (Gold) FT I & |

A2, GT AT FHIET qiaar & |

i T & TS I AT Jiad AT, ar 96wy T51 | faweat & e & 36 37

FTHAT U oG9 arfeheh 09 FAT &7 T 4T |

89. Frfafaa T AT g aTa T | ?

(A) HIT H I8 [0 ST g3 |
(B) I8 @S @&l AT &T |

(C) qeaATH ETT I W5 & |

(D) STTEAT = I3 T |

Correct Answer: (A) Frsrrf'rzrg EASSSIE AT g |

Solution:

Step 1: Understanding the Concept: .
g T aTeT YT F qataa &, e o, a9+ i da &7 98T IR S[i=T Jar g |

Step 2: Detailed Explanation:

* (A) §T & I8 [EATT SA ;1| - TE I AT il i & g & | "
(e & SAgET ffvaT g (Tfeen) /8t & |
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« (B) I8 WS& & &I AT &7 | - I% =195 & | TET W% JioeiT &84T &, ST e
e feam g =R T o

—

« (C)TEATH AT IA @I E | - T8 A[E & | T 9re7 Yoo i1 &, TAAT fo6vdr =5t 1|
& BT TR AT
« (D) ST T I GT | - I5 a1\ ATRT &l gise & g & | ' & a0 fwear &
(T -IfT) F ATAT T (Tt JEr R |
faw 7w fasedt & (A) 3T (D) TET TR €T T G&1 & | TR, THAIRIT T &

U AT 5, ST a9 ST IT NI aTad &l AT 14T 7 | I (A) T 309-
T et &1 aui #ar & 3T T ave 9 5.7 |

T I o TIAT H [@e=T &7 (T 7% a7, Far AT & & 91 a1 Jof @T &l

& AT AR, $9 W A9y o= € | T8, HiEr, IS 9es Jioe T &l & |

90. frrferfaa ¥ FT AYG AT | ?

(A) TR
(B) THHTT
(C) IraTeaT
(D) &4

Correct Answer: (A) FQSIE'IT

Solution:

Step 1: Understanding the Concept:
g T AT &l AV[ET il T899 F eI & |

Step 2: Detailed Explanation:

« (A) TER : T8 A IA-1 & | A BT H T 53 &l TGN (A FF U AT §
aryr) fomar srar &

« (B) T : I8 g - & |
« (C) AT : I8 g I & |
* (D) &4 : I8 g a7 |
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A :, AYG, o8 TR 7 |

S ST B/ T AT T AFA TATTAT BT & | TR, TS S reat 7 =
&I U AT AT &, 1 fa = & &7 AT |

91. Ffeer STHATe fer STYe FEFT A AT & ?

(A) AT
(B) TITT
(C) z5d favam

(D) T&T aTeAT HITEAT

Correct Answer: (B) -iTC

Solution:

Step 1: Understanding the Concept:
g I T TeT edd TI0aT i Hl=d T 3T 3T I § qafad & |

Step 2: Detailed Explanation: ‘
FieeT STFATA A FEFT I &l {7 I &7, s oas gamar s |

Tg HEFT (o FFATA & THY ST G & ST HAIAT AT €T ITATIT AT AT RO &
for wTie & a3 o187 (A7) AT & 377 q81 f SAeIT § IA &7 77 AT & |

T TETTETH il T FETIT & @, oI W8T, H%oF ITa7 AL FaFl & de i
T &7 Teh ATT ARl ATTRY TS e |

92, TYIT YT (e HTIT & AR T FATHRR & ?

(A) T
(B) 3fs=T
(C) ST
(D) T&TST
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Correct Answer: (C) W?ﬁ‘

Solution:

Step 1: Understanding the Concept:
g e fafi= Y qTTeit & g st dif 89 F gafad 8 |

Step 2: Detailed Explanation:
997 Yo J[TAT YT & U AT AT 3T 3 AT HITRE T |

IR HEFT G I GITE & (BT ST T IE F qTSTR/IH F ATHA 7, J7 AT >
HHAT 3T AT HEgaf s 2T & T ITqaT (=T &l AT &7 § e d Sear 8 |

ST RTH H AT HAIATET Rald1 & T T A ITehl JTT &l A9 1S 7H |

93. 'Tgq fawame # f&e T & e & T WHIT AATR ?

(AT AT
(B) ®¥AT 9T

(C) fawger
(D) ¥HaTer I

Correct Answer: (A) TAg T4

Solution:

Step 1: Understanding the Concept:
g U ATaaTST 8167 T I=q I(SaT Fa™r ‘g8 d favae & favr-aeg & qafaa &)

Step 2: Detailed Explanation:
TR [AvaT FEFT ISET & 16 3 G § GO AT-o(a+ ¢ AT & |

FET T T T ALHT S I & AT AT HEFST T 5 A I 6 2 H qaql
IR & | FETT & T IHIChY SHT a1 & e 3T 39 918 TS [aTorans a1 & 32-0e

qaar ey |

Far=ar 7 Ifetad faferse s, Ffeat, ardt ofe & TE @ o= &, #&ife T

FEFT & HIFd & (AT AgcaqoT a1 & |
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94, FITFAT Fr fhgs aryr fagre T 2

(A) |7 S & 917

(B) IT&Y & & & AT
(C) Tg AT & |
(D) TSTET & AT

Correct Answer: (C) EI{#WT%‘W

Solution:

Step 1: Understanding the Concept:
g U IET 1T I d1S FaFT TET aTel AT & 7 §9Y § ga4fIq & |

Step 2: Detailed Explanation:

FETT AT et [T (9 AT AT qg & A1 A ST 3 Tel A 209 7 |

HITHT & & fears 3T g Ao AT & &7 o7 | 7 foars o a1 &1 fled & g2 &
I[E AT & 3 e 9% ¥ AT AT Saaqear fl d&y ¢ SaT &, [STed ST ST

AT T AT 7 |

FETFAT & T I AT I a9 & dadi (Faar, saqzar, fFam) & a ==
FEFT & 7T G A TS & (AT ATITF 7 |

95. T ASAT ART AT WIIT 2

(A) FU H STAA & [T
(B) & & 1T
C) T & faw
(D) FAT & [T

Correct Answer: (A) @Qi‘ T & fwz

Solution:

Step 1: Understanding the Concept:
g L9 (a9 AT I[F 1T 9T FEFT Aol & a6 F gafaqa & |
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Step 2: Detailed Explanation:

FEMT H, @S AT JAGRT BT ¥Ts g A&l q18d F f& GOET T8 AT & et A7
TehTET ST |

I TSHT AT o & 7 & FF T A AT il IR 92 & I aTc] HU H ST <31 Tl 98
e & Y T I9¢ 9T &1 94 |

ST T AT AT ] HGoAT Al Al l TAT & &1 9T, AT & 39 T4 & (70 U TSt
RT FU &l T HT |

AT, HT ASAT AR FU H STA b (AT HTIT 4T |

FETAT & & T Sl S=HTAT AL Ieh HIT & GIe, o O Al GHHAT HaFT
& TS & T & [T T8cqI0 & |

96. AHTEEIT HT T Hgl EAT AT ?

Correct Answer: (B) & 7

Solution:

Step 1: Understandlng the Concept:
RIS "IIGICI(GII"I ﬁ'ﬁﬁﬂqd qlo 3”741(094 ‘Il{d{ Jdla IGII(‘HMIS @T(I\Fl"lﬁhl g9 &l

AT SHTEET 8T) & SHaT-9R=T § geiaa & |

Step 2: Detailed Explanation: '

SeaTe fafeedTs @1 &1 9= 21 719, 1916 & g9, g’ & @ifiaant & 0& 9aw §
g AT

TITT IR AT ATTHIIC SATaT FTUET (I TR H e o1 a8t §3a ara=r

&, AT ST THEI (S8 &7 SHUT e 9T |

A ATFAAT & T AT FHEI H HqT &l G741 G8cqqr 7 | fafemears
T T ST (5T H 9T 9T, STafeh Il i o (37 T o7 |
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97. faiie TR T & ITAT AT E

(A) FaFS, EFT q=T T
(B) Aferfa &t
(C) T &l FHIA

(D) TETi AT

Correct Answer: (C) TTHRT dT HHI

Solution:

Step 1: Understanding the Concept:
g I g oAad (a1g FHTC J[F i TITA &l [T (genre) Fl T8 § Haraa & |

Step 2: Detailed Explanation:
AEY a0 Ty faehed T &7 frgevor &

* (A) TIF BT T QI : T faeTa AT et A7 U T, Hiaar-Hg 7 |

« (B) AAfafar 18T : 7= T us Sfqar-a1g 7|

o (C) THT Y FHIS : Tg ITH U a5 &l T faad I=are (Novel) 7, i 97 fhew
JraTgars |

« (D) AETIAETHAT : IE ITHT HFEFT-GIRE &, T AGAT FEFTATITS 7 |

T H ITATE &7 A1 TET AT &, 3T : Fal 307 T il HFT 7 |

THE AGHRT l & G HH UH-Udh THE AT &l ITah! (T (RfqdT, ®gHT, IT-ATH,

EECIERIR B2 IERacH

98. AW TISTIGT & ATAT-MIAT T ATH F4T 4T ?

(A) G 24T 317 qurH e arsrdar
(B) 9T 24T 0 forg ar=ragr

(C) FFAT &4T 3T TWhHoA AT
(D) AT T4 =T T gl

- _c [aN

Correct Answer: (D) fFH®T 4T 1Y wWH=< aITa=l
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Solution:

Step 1: Understanding the Concept:
Tg I AMGAT I8 & oT@d AWd FIIAl & Sa1-97=T § gei9a Udh aeAareTs
I

Step 2: Detailed Explanation:
g AT, AATH A TR AR AINF ATTIAT & T 16 T4, 1941 &®T G, FAl-

HITG (Tl 7 TR0 7 3 9T |
ITeh [T T T TS TIOTIGT 2 HTAT &l T 86T <41 9T |

TETERTH H ITHA AT & SAT-TR=TT AT A F T, T (e 3T daaa aeAT-
T I (STE ST -, S8, JTaT-fadT & A7) 9% ST 9 & |

99. AT HIT 4T ?

(A) AfEaT
EEIRER
(OEILEEL
(D) ETaTET

Correct Answer: (C) =11 e a\il

Solution:

Step 1: Understanding the Concept:
g I FIEa@ § SaT=d’ 78 # A0 Uh g § qafaa 7 |

Step 2: Detailed Explanation:

T 7 IFTE [afeqotg |l & YEA! (&1 &7 STy Fd g0 a1 40 8 (6 99 § a1t
oI, T I8 G & STATaT hea T &7 ¥ 3T 9T |

I GHT S TG AT (Actress) ATEAT ITaT THEIRT HATRT T | T Il [hod
@ & [T ST ATHT AT J1ET & 99 o3 & 1)

AT, AT U AT o7 |
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ITe Ted G99 H3&7 T & S1a- & 9[s AT HATFqdT A qedl I T <= &, Fid
T T T frear s g B

100. ""TF WTYT SIATGTAT SATIT dF A AqH HTNTU FreAqarer AL @l W1 AFear grar &
" I e S IS fr ifea & ?

(A) T 9 &9 #4791
(B) TG T G &
(C) Ay feAfT

(D) TL9T AT oA TR

Correct Answer: (D) TCIT &l T T

Solution:

Step 1: Understanding the Concept:
g I G0 TT & T 396 T 718 F Tq= F garaa & |

Step 2: Detailed Explanation:

Tg FYT G A TS THGATT AT G107 (A e "I &t qodiae & o= mr
B

T (e & s ATfE T 3 W & A5 T THT STAd & | T ad ad & (6 od U
TT AT ATl AT &l ST T (FFTAT) BIAT &, 96 &7 IR T agHTNT TS &l
T =19 U fafarse =i ag W89 &, ST 39 WTVTs fafaaar & 94T 7 | I8 &9 I
FT Gredhfae Taar A fafaaar & wifed aar e |

freraTeseR et & e fa=e ST AR e o Gt A SR AT A R | TR

FT AR T IS T ATEHAT, AT R AT G & a9 f[aaw fitd & |

Section - B

T (F)
T &7 GTAT 7Y & e IeIT T 107 IeTe § TREfad &eT | g faame
I & ATTIH FFI=TdT & ATIEUS &7 7 | [99a & @ $F 3=1q & 99 - 99449
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T SAH G, ST, [qee =T, €6 e Si=IiiiTs gfSe & G0 T & | 9 & it
faaTer &7 STaaTe 1fd eI &, AfehT [Gare &l T drhl 16T 5T & | S e I dr
BT A : TSI HleT H WS §S, T 39 GHT JANT AT S0 §, &1
Fall I [HE T RTIET ] | A 3T FE IJANT AT AT 6 AT Joqre & faery
HEeed &, SAMAT §9 faard I T faory <o feam @ | wRa T S9ersT §9raEt 3T
AT FETTIRATA &l T §U NI (GehrE il A {qd ] a18 & |

(). ST R IAHATT AT F+TH ?

Solution:

Step 1: Locating the Information:

T YT AT I ITI T AT G § &7 805 €7 7 fam G & |

Step 2: Extracting the Answer:
TRITST & SATET, "I T T AT 37 & (T i 39T &l 107 IcqTe § TRafad & 1"

ATfST TRTIT H, TRMTYT AT 3 § Hataq WIAT & IO AFHL 19 & J[&ar
T o AT ST R

F(ii). IMATTH ghe § AIT-HIT T T~ & ?

Solution:

Step 1: Locating the Information:

T I & I IMRTIT h TAY IR il TEeAT ST qELT Ifad H g9 [haT mar g |

Step 2: Extracting the Answer:
TS & 9T, "fava & W @7 3= 97 99 - Sgad T ST, SIaT, e,

T ATfE e T gfse & §8g= e & "

S QYT H RIT-H AT GET TS A, a7 TS S, A S 1T & qr
T IS GET T A hiadd & |
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& (iii). YR & A fiTe Icure # ffear faoiv Agw & 2

Solution:

Step 1: Locating the Information:

T QU &1 IAL I & AL TR @l Qe gied § 9 aie @ fegr mar |

Step 2: Extracting the Answer:
TS & SATET, " 3 FE T I T WG & ST 1T JcqTeT J a9y Agca & 1"

ooy FEea, I SN0, W [QuIYar ST a9 arel I & 39T & [
TRITOr 7 §7 9eaT i EioT |

F(iv). WRT 7 AT Fasre Fr Aot ATIWAT L AR 2

Solution:

Step 1: Locating the Information:
T QI &7 LI &7 ATae Iferq 7 ere €7 & fegrmar g

Step 2: Extracting the Answer:
TS & SATET, "I o ITeTs SETT 3 AT AGIIHATAT Al S 5T AT

firer faemr & Tifaat s & 1"

FT, R T, FT @A g T TIAT & I AT TGS b (Thy AT 2 fam
T H 97T ST 8 |

F(v). TGS T & TH GET N H « |

Solution:
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Step 1: Understanding the Concept:
SV g8 &1 A8 T ST TRIT9 h i1 19 &l ST 5 T &L | T8 TJ19 IINT, 396

faeme =T e & g & 39T fewfa wadfera &)

Step 2: Suggesting a Title: ’
TR & e 1 (a9 &7 <O | T q g0, Frfafad sty 3994 & 96d &

« N faare &1 AgeT
o YT & AT faame
o YT 3T ATIH FEIwar

ST | WA H A& (G 899 I99ad IINE & Fi{d T9 7 W 9% (o
T fegr T E

T =T IVE A1 & (AU, T & T8 & q1& G2 & 79 "T8 T T [6
U I & G H & 2" 3T &7 SATTRT I FIT |

T (/)

FE=<I ATfE e T TRT-T=T 3T T8 G HITT & qieT 9T & |77 AW I=T & 7§97 €9 9 fg=<r
AIfEcT &7 AR & | T=1 & &91 7 f5=<r arfeer 7 &2 fifaas efua &5 § 955
ATfEeT § 97 & faferse & &1 7 ; g fe=<r arfecr § soadr sufefa T & avae 7
| Fe=<T Arfeer & v AR TNd ST Y 94T & | ANHd IIT & TS qTfEeT @i
faaTer T & &1 & AT 39 I3 &l TR & AT & {7 ST ST & | T 3 fa=mr &
QELTAT 14T & STaid J&T & HTaT &r |77 307 97 oy mar frér sy #ga & |

@ (i). fe=<r arfgcw &r fevqa vt F ater Ty ?

Solution:

Step 1: Locating the Information:
T LT HT ITLITTI T T5eAT i 7 & feam T &)

Step 2: Extracting the Answer: .
RIS & AT, "Te==T ATfe e &l TI-98T AT TF T\ H aler 3T g 1"
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TTRITST 92 3TTRT TATeHd VAT & IO¥ gHIIT I & &7 AS[< ald & | I9¢ &l

T F I¢ AT T qal & T T &7 |

| (ii). fE=<T i &1 &7 M T | ?

Solution:
Step 1: Locating the Information:

TH QI &7 L IETI T gaL i § e &7 7 fegr w7 |

Step 2: Extracting the Answer:
TS & STETY, "TTeT 3% 9T &7 7 &9 & fg=<r arfgca v g 1

T AT, " S0 S 961l 9% I & (99 oo &, #ifd T Sraahr arer
TS & 39 (5 a& o S & W81 SAY AT & |

| (iii). ‘I S @A (R ® 2

Solution:

Step 1: Locating the Information: '
T QI &7 AL ITITI & T8 IO il qi=at dfed § fear & |

Step 2: Extracting the Answer:
RIS & AT, =T aTfe ey § S9¥aT ETe INq 399 I =T 8 |

feret faory =T a7 s & I H I S 92, TS § 39 A1 & @S | 397 391
AT T I AT & a1941 H [7eT ST |
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(iv). AYF I & (77 T & TET ATQT & SN F+AT 2

Solution:

Step 1: Locating the Information:

T I &7 I IR & gL TIITE dhl TEe A el dfed | [Gam b g |

Step 2: Extracting the Answer:
TRITST & AT, A& I H T AT 8T AT (R asil § &1 & S0 $9 37 &l T -
A & ATH T ST SITar & 1"

"FIT" gTT TIAT & I AFAT "H &I, "F(ER", "TEfAT" T W& T & 9 faw

T & | TR § S Sehel TTea 1 &l @i |

q(v). 9] fre FET T ?

Solution:
Step 1: Locating the Information:

T U &7 3L IR i i dfea & fegm a7, siet 37 & gy e @

Step 2: Extracting the Answer: .
RIS & SATET, "TT&T A 9T (e =T #r&r Sy g & 1"

TRTST & ST 9 9T RIS & 3 § 4T 39 GONTh & 3Fd & &I & &t

39 9e8 &7 IR=F =T =T ar|

TS (F)

ST, YA & IA7 H [T U TSET 97 8 | SHaT T -9 9= faeaqre o1fas & a9 3«e-
Zferor faeaq™ & & | 97T & @1 31 YT & 0o & | 997 & 139 7 (afead oa afv=
TS, ITv=T H IAOEvs quT T 7 ST ud 397 a9 Oy (I § | 9Ter & S¥==
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TF BIATR(T T [GATAT Fl IeqT T IR TATHI (FFT & | 9T & 34 WIT J 3
FT-FT 74 o ¥ | fave & aat=a faray A19ve vavee Aate & &7 e B L Aarer &
HTSUE UaVEe il REATYT & 919 & THET SIar & |

H(i). TRT & SO H T SIS fTAH &7 R 2

Solution:

Step 1: Locating the Information:
T QI &7 AL ITTI T I5AT &7 I F T €7 F fear mar &7

Step 2: Extractlng the Answer:
TS & SATET, "T9Te, M & 397 H o U TSEraorg 1"

T, T & IO H (e TSET 97 &7 A1 997 7 |

TRITST SATSTRE 9T Al 87 &l G, T8ol 09T &l A & T¢ 37 (6 T=ier §
gefaa #rae (keywords) |IST | 39 TG 19 fqet SaT &1

F(ii). AITET & TR H FAT- ToF (AT E 2

Solution:

Step 1: Locating the Information:
IS & ST & ST & &9 A g &7 aui (T 7T & | 55 aferor fewm 5 fera

TSI T ENET A

Step 2: Extracting the Answer:
TRITST dF ST dfe 7 fomar 7, .. am afaor & fagm ud 397 e T e g
A, TITA & 0T H T8 ST 397 e o e |

fewrmeat (e, afv=s, 397, afen) § gefaa oAt & fau wegier § 5= feur g9«
MEARICE R R Gl
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F(iii). AITST A GEAT Td SIATHIT &l [hes QAT aa fmar 2

Solution:

Step 1: Locating the Information:

T I & I IR & 7T T H &, a1 9T & Il &l =1 &l 75 & |

Step 2: Extracting the Answer:
TS & &S € § T 9T &, "TITA il S3=94T U SIATRIT &l [GHTAT &F Ieqia T

FIhRr Tl a1

"feREeT TTae fRaT 2", T ST T 2" ST QI & 39T & (AW RIS H &R
AT AT aTe aTad T &l G |

F(iv). ATIVE UREE gl fa® ?

Solution:

Step 1: Locating the Information:

e & 3 o fovg & qai=9 [T #r g & |

Step 2: Extracting the Answer:
TS & A9, "fava T qat= feraw argve uavee J9Te § &1 e &7 1"

faferse AT (S& ATIUE TavEe) O AT AT & (7T, TeTer & 39 A0 &l i
TSl | I IGT AT 7 fHeT STaa |

F(v). GOTEATYT & 9 & [l (@ Jrar g ?

Solution:
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Step 1: Locating the Information:

T I &7 I IR &r AT ife 7 femm mar g |

Step 2: Extracting the Answer:
TTerTor &t i dfed & "I § ATSUE UAVEE il GIHTT & AR F T ST s |
I :, FTHTET & A T ATIVE UaEe il ThT AT 5 |

SYAHT AT 3 AT & Ga T 9T & (A0, TR § & A1 & ST AT 8, "wa
STAT &, IT "TRET SITAT & S a9 I S & |

T (|)

o TST~aL TLETE YTV [0 TSCTA(T o | ST ST (8T H §3AT 9T | §Teh (a1 &t A0
qETed Gard auT JTAT & A7 SR YA dl 9T | A8led gaid a%hd Ud wEl & (ag
o | fo TaIaY TLHTE WA STa9T ST & 3Teqel & | I ST &1 & AT-8Ty
o oy [ETE AT GF— ATecadm IT & | I=/1= Q1T & HgAT §' 0d FH IR §
HETCHT T AT Agcca qur & [l | Sto Ta=ay T0ATE &l AT & e HTYT 0T, FaT
TF HTAICIE S 7 | T G0 7 Sfo TNi~ay TS 6l TTIaadr ¥T & & | 30 & (A
ITERT AT AT IO ST & AT & [T ATRONT & |

(i), TRT & IH TCWa a2

Solution:
Step 1: Locating the Information:

T LI AT I IR &l TeEeAT &1 G 7 @ a1 oY feam mar & |

Step 2: Extracting the Answer:
RIS & ATE, "STe M=ol TG HIT & T T fa o |"

wﬂ;ﬁ%ﬁwﬁaww@vwﬁ%ﬁﬁ%hw%wwﬁﬁw
Sk
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®(ii). STo TSTGX [HTE F ST Fgl GAT AT ?

Solution:

Step 1: Locating the Information:

TTEITST il 94T Ufea H 39 ST T 3o & |

Step 2: Extracting the Answer:
TEITST & SATHTE, "SRl ST (8T H g o |

STET 9 ATITRA =TT & S, §og, S, JA1a7-faar e aeares faawont &
TR & AT J1fET |

" (iii). STo T+ [HATE & ATAT-(IAT &I ATH FT AT ?

Solution:

Step 1: Locating the Information:
IS &l e S § 39 qrar-f9aT & T/ &7 £ 3o & |

Step 2: Extracting the Answer:
RIS & TET, "S1eh (AT & AT Aa1ed GaT9 auT J1dT & A1 S 9 aar 97 1"

ST T H Ud § ATHE AHGET TBT AT (SE AT A7 foar =0 & 9m), ar

TS &% [ T IqCH ST SAHSRIIT Sl AT FL |

G (iv). Gaamr T S rmgw aT T ?

Solution:

Step 1: Locating the Information:

RIS & T & ST, Tolay TS & T dd SUefead | T qur & |
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Step 2: Extracting the Answer:
TS 7 &S o@T &, "Ste Ty TRETE AT ST 83T & SreTar o |

@W#WWQ%%E%&WWF%W%W%W
|

|(v). Sto AR [HTE ¥ FIT-GT AGcT U e (€T 2

Solution:

Step 1: Locating the Information:

TRITST & Il AT R CId ITATSIIT & AT IAehT JEdehi & ATH QT ITTH |

Step 2: Extracting the Answer: .
TRITST & SETE, "Ira i AT & HaA | H' T TR0 § AgIcAT ME T AT Agceaqor T
ot 1

e e & =TS & A H I, ST 9, RIS H T80 & AT @l a6 ST AT
T Ig0 [N4e (. § o g & |

3. frrfefaa 7 & fdT wa favar o fRT To g fSgett & AT 9 &0 250 - 300
wreat 7 frany fore

Solution:

(F) AT AT qT
(i) TCETEAT
T T S a Y ST & (70 IEaT TSe T Sl SHa ST, T 3 T &l 0T
gIAT & | M &l IS0 o, e 87 = & T #8d &, 891 I3 & UahdT, &Sl
A fafaar & wiaiaes F3ar 8 | 98 #ad 98 &7 UF ShsT Tal, aiedh st TRa i
FT SAWTAT, SATHRTATA AT TFASFT FT ST Wl & | T {7 T8 T F A=0dr 5, 57
AT T EST T 9T JTaT & |
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(i) TRAT AT a9 & Sfaar

AT ST ST &l JAH SET (G @ Ud daT Il f TR0 & | SFaaiar
I & W (G saott &r T fl T I3m | aaa faiar dir €T e @
VT ST 7 TS o | S HWTHET & AT, 22 AT, 1947#r1=r&r~n=rw#€ﬁ A
ST & T H STUTIT | §6 S&€T &7 (raior fear T, fas S aa = Stets fir gefeqt
AT HEL T AWF T ATHA & | T§ ST S T dl T5I a-aT I3 |

(i) AT T T ST HT AgeT

feRaT &7 T¥ed& T 37 Id e 27947 (a9IY Agoca TaaT & | 999 FU FeRgr 31 &9 &
SiferT, AT 2 Sfe= &7 TWdid & | S i 39 et 9ifa, a==rs =7 gfaqear ar
TUITAT & | 9 A1 &l &9 Tl T3 il T T Iq9ar, e T JHaT & TATd & | 59
& e H Fora Fier 37 &7 "1 & T 997 A A & TG & WA #ear g | 99
24¢|”|R«|247§G|‘M;|w & 24 IO T SWTAT & A 90 &l (Y I 6 T I A0 Te ar
U &l & |

(iv) ITEREIX

FHTT TS ST §H IS T8 S T &7 qai=a i & | T8 g7 I AT
AT SATHAT & STARTT T ST HATAT & [STe8 1+ &9 il AT & [0 STI=T g9
rTaT i 60T | T9FT T FET WAE YRAT 7 TF §de7 & | 55 VAT s
dfgar & (=T &7 T Fd g EF 39 wEeEr ey | fair g6 fawErar & g,
S AT AT T [GT=TaTei & aTaS[E U & A a5 (AT S91 il QAT o (7T e weA]

IET|

(&) T AEr

(i) TR=T

T, ﬁﬁuﬂﬂuﬁsﬁmw% Wﬁwqﬁ@ﬁﬁmaﬁ%lwm
fEATaT & e & oy e fEaee T 8T § | 98Tet & Madey I8 A<l sRge 7 J<
ST B qEer T & ST I M 3 FoTer SEt A S g€ dvrer Fr Arer i faet
&I STTT & | T el Ush SIS T8, Ffod WA §dT, §Ehid 3T ST &t 9aTs.
HEREIR IGIRIE N S A R

(i) qTFA® gfe § A5

T gfSe F T & o qa iR 8 | B 9 5 S8 Sdr &7 & e & | UhT ATegar & R
T & S & & AT & G 91T A AT & A7 3T JqTeT Al QI &1aT 7 | §96 a€ I
ERER, THENRNT 3T aRIVET 99 ST=d Ifaa? draeed a9 &, Sal 87 a¥ ATl I0Ere
U T HIHAT & AT & | AT 9 et & wrifa & fow Wi v 7 srfer-faas #a 8
g A& T H Ad g T & Sehl § ST 55 & |

(iii) TG dr qHEqT

AATTHR ITHE Agecd AT GT SETET aTel &l & T & T 3T 9T AT THIT
I HT 99 F § | TEL AT AT AA-TA, FREFT & TEAER FHY A TAT-978
T HTAIT HTe 4T 7 T87 & ST 2 | §67 T A T Hhaed T & T A (¥t 747 f7ar
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&, e 39 TATT SiraT 9% WY faaTeranrer dTa STAT & | T ST aqod AT ST aTel
THHRT T AT &5, ST IC T F0 T & ET 7 |

(iv) FaIs & fora st

TTT T GE 9T &l S&d U qLAIT A FTHTISTh GIS1 51T S5 TS o (7T AT ST
FATT T & | T USS AT F 6T gTeA & au 5 FHIH 177 TRISET a, 97 &0
TR o % & (0 St 299 @ 6w 7w & | 37 o1 hg=t & a8 raet edede
SATE AT, ST F9Y I Uedh AT AT T<T det & Giadiweor s &1 ffe or @
T

(v) =

TAT M &0 SITa-ET & | 39 Fige 98T & JO9 T80 SIsST AT g&6dT | 99 a& &

AN A9 (e T8 GHIT 1T TET 5 3T STAT 98 A5 9T, a9 a6 i |r
AT T T8 Ahel Aa1 &l GahdT | 85 3T & STTHE Aaccd & 9T -AT 396 TIa0uig

Hgood & YT GHAAT 8T 3V 59 &=, U9 (0T 91T W& AT Ghed A1 80T |

frdT e A =TS & A H I, ST 9, RIS H T & AT &l a6 S AT
Tl IGI0 (o (...) § o grar & |

4. YT [ES & [HE & 9 TFh T (o f[9aH a8& I9a &7 ST &v |

Solution:

qT-14, T - THIT,
- T,

SEIPRECCIMCE
[&Teh: 15 ™aHT, 2025

HaT A,

g’:ﬁn—géﬁrgwmﬁwqﬁmma@m

ARTE,

qfawr FaeT 77 7 ff & T0qe Wi &0 Od FEmt £ | 5 ST SA g6 T S e
TSHOT & SIS ATl G il A &gq-17 (eqf & AT AHKT FEAT q7T § | T8
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a5 (gl &% av § 9090 q & W19 § T a¥8 €€ a0 & | -8 9595 TSe ar
T E, R a1 T I WY A & AT &7 g9 ScdT &7 ST |
TH Fedl A ZET-hel TSd & R0 &H THATEAT & YT RfSATSIAT &7 GTHAT HAT

TS TET 7 | fammhiat & =her S, eI &n ST9eiT 39T #ST a& of ST 5 A fauryae
HISTT &l AETATT ToaM H 5d TAWT 81T & | & A qT8T 37 T5el H he AT &,
Saa ggeaT FTEART AT maAT A |

HA:, T F FaHT A0 7 o §F A0t 1 THiaT § od g0 Ta & 59 %7 956

& I TAFHTT 8 AEITH HcH IS il T &L | ATH TH AT & (AT g7 THT -
TETET S 9aT ST 7837 |
qqgdig !

TaeIT,

I FAT
(FHET HATEAT & AT )

e o &l =TI & a0 H I S 97, WIS H {&0a & ATHT &l &% Il STFY
ToheT 3970 (95 (...) ¥ fa g &)

YT
fraeaT & AEcT W S & I g9 aTer 9971 & o |

Solution:

AT : THE UTad | e &1 2 qgq (&A1 18 fad |

Qe : THET o0 | F 3 § | JH AT ? &, §5, TATRE i & sed o7 |
AT : H TSI § | 3T T F AT 47 9T AT G 57 o7 fof S # foreear & fhaem

TSTHRT & |
Qfga : T faoghed FET HET | UF G=47 a7 a7 $3a7 & €0 g0 (FEr va= & &7 181

EIAT | F&r ar & ol 89N 99-5: 9 H [o97 ffer |ary & g9 ary @7 Ear & |
;AT : 8T, TRAT & a1 fqe & ar grar & 5699 89 319 497 &7 8¢ 91 §ig 9ad & | UTh

W= (AT &5 gH9IT 98T 1T [R@Tar § S0 A wH & F UdhdT | |
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TUfea : faeper! 9 wOFST T gam™T & faayar g o, a==r faaar a9 & g9

—

FET | T8 AHRTIWEGT IT H9-A19 A8l a@dl | =47 [Ha? ar g7 [T Q0T & q7204q

BETE |
AT : A FL GEF H AT (AT i /T T8I 81T & | 7 e TRfefagt & erer avae

AT TST ¥, e g7 (a7 & |
UTEd : ar Fal | -3t d al SATAT-STaT W5l &, AT Udh T=4T 37 =57 (Ha7 faerq

qTAT T &1 (AT & | 5 gHEIT 9T [Ha=ar & 9897 &7 98T |
AT : TAT, AT FAT HTAHT AT ET & | TE H I7T FdT & |

qfga: S+ &, TAT|

e o & AT & A H I, ST 9, RIS H T80 & ATHE &l a6 ST ST

Uehet 3470 (9 (..) H e g &1

5. f=rferfaa e 7 & feegl o @l & 9ae e
(i) '‘TEaer FMaTfaT & AT § &fq GHAqUEe I T Fgar aed § ?

Solution:

FiGaT M AT H 'T&Ae Farta=r (T87 & T Fam &7 arei) Fgd? dfq gaaase
G T &l dedhTeA I &I T-5 1 3 (9T ST &7 S9=T 9184 & |

THS AT F F FEd & [0 TV, ST FHT G 67 (GS3T FEeATaT 9T, WIaT & S
FIT T BT AT & | 5T dl St Sar mat 5 e dedr &, 96 I enma =i
TIET & T &7 & ST T80 & 3T T USr & T Sa= [9d1 & (9997 § | g5 qregiar
T AT & S8 Y 8T8 &€ T T Tdia 7 |

Ffqarstt § TIFT TATRIHE JTFITIT & TTa? 3 & GHE dl TAE & | 'T&ad

FETaT fhaet U STead U A&l o AT AT Tl S O I Fq9rer
A g |

(i) T ST AT HAGAT AT FET TGIHT TR & N FT 2
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Solution:

T AT & R TR AT AGH A AT I G o AN F TG a7 A8 & |
T UET SHAT FAT AT & FT R ITh A I 507 HF (a0 -aaT A T=7 TH & 7~
TR &\ T ITE & [ I A=A ST aT & Gore T AT 0T S0, qTfeh T &l 37T
9TST, 39 (a3 FT T80S 30T I Fose OF &7 Uga19 &l G | T JIEdAT & ATTHT &
AT TE ATIHS <9 29T [gaa T & ST I8 & |

At stadT, faeryae e A wfqarst § favg-aaar & sthweated aga At

BT & | e T | ‘T &1 3T AFAL TH ahl TIST &l S ad Tl dl ST & ST

BT s |

(iii) A fo=T g T v & wfaar &1 QAT #r e ?

Solution:

YA ATRAT Rewh g7 Ta &fqar 5 @97 @F TR & A9TeT Had S a6 & &
ATE AT AT G FI ST FATH |

FfTAT & HEOT T T7 & & YIa &7 Aeqed o Wad i oreT W ar e g1 gfT
& T &1 AT HITaT il HE T, 39T T&T 3T ITa! [Goar g ar SITair | T #ad
& [ o &7 AT & T MY &, ST SATa9 &, 3T 397 &1 T AT & | §9 T, I8
Ffqar Wiad i IT WIRTSST I IITAT § TA&T W & (9T HITGH fT Tahtdr A7 e
TATAT T & |

AT AT T AT & 3T & RfGdr &7 Jof 997 | 9 av8 & A1 & Iq¢ 7

I T HIGAT AT AW FG, qTaAT H [@= T gar & |

(iv) "ISafed &0 & AT & ST T AT FTR ?

Solution:

TetrfamT ®faar & Toalfara & & I8 § wfq AT AT AW0T 39 Qe T9ans 8w &
& St fearfosT 92 aeAT &R T T T
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g U UAT &07 4T [STEah! 30T 3 T7® Sa-1T aof 4T [ 39 U ST, TodioTd Q1987
FT TIT IT HY [T | I8 FIE OE(dd I8 T8l 9T, Ffeaw A9 g7 o= fa=mer &
AT AT STE= U &7 91 5 99 §5, STATRL TG T [GIT AT FSAET ANl W &7 (@97 |
Tg I I AT Sl YATI/ AT 3T SAHFIIIAT il Had AT & |

[T IS & AT ET HA THT Jq6 Ga A AT a5 AEITS & | Tal
T 6T &I TANRT 39 AT 3 & &l Todh TATY ([qEhie St TWIsar &
T & (AT ATl €T H g2 & |

(v) TG AT & T8 A&HT « 97 fRaT 2

Solution:

TET (T FEWT T q1G AT dil SAWAT T TeHT T I8 T &7 AT ST AT 4T | I97 916

9919 & (AU etatad & 6

1. IO 5 H ITA UTST-AT TST AW §g, AT @I HIHILT Uk G 7 WIR? T AT |

2. I AYT T ST TRAT & TeT af TEETT @A &1 qTfeh & SIT J G494 6 (AT
T |

3. I AT T T=T Al AT T A F I ST (9T 7Y 9% & STer G f 467
T ISTHT AT Sl ST &l AW S a0l AT @ |

FEFT T ATITRT TIAT AT I &l THT HEATRH &l IS T@AT T8 cqI0 & | HgFT

& ITAY G6he & 99T 39T FaH7 Iad &, Tg F9Y 7T AT 7 |

(vi) TERAT AT ATTHT AT, T HAT (@A) AT T @Wafear v g 2

Solution:

AT e T THIT FEFT H AT TGl ATTHT ASTS A defg T AT (3T HF -
[T ST TSRS AT e Wi grar & |
T IAA TEU AT H ASAT & AT I AH A AAT &, AT IO 227 3.9 § W AT
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& | I AT &T =¥ TAT @30 oTaT & 3 98 HA&¥ &l 3a¥ gedl |dl & | 39 UAT Agg9
EIAT & o7 9 9¥ H 39 (AT IS S8 T8l & | 3iqa:, THT U710 il ASTs, 3 STIHATT

T T AHT T8 T BISHE HAhed a1 AT FSIL (0T oF Al & |

AT & FRAL- AL A ITah! A S [T 9 TR AT & [0, HgFr &
ITh GaTRT AT AT ([GERT 9T A= & |

(ix) TTGT FTTGA® ? T& TIT A & G hed (AT g 2

Solution:

AT FT aed & 7 TS H T8 T @ g THTE fqaar & i qgd & qasl A7
T &7 § Iqfedq g3 |

U [a ITr FIEr ATHN T I T, "SAEHT & MG 341 qgd & " T8 UF a=F & 9%
A AT T 9T, AT @9 59 T THar & G & (@70 (9397 &7 77T | 375 T [
g LI AT &l ATfa qrortae g i SEaT Idr & a9 & S9Y &l 97T & | T6

TTAGET T T &l Ueh TR =TS (e o &t o T

T T8t & J[&TT TF9Y el FIET 9T IT I § &dr & S o &l
ey AT & [T T &7ar 7 | 39 JEdr {95 i A1 @ a8 eqq & |

(x) B 7T 7T ] M ET F ffqd TER TR 2

Solution:

B : Ut g7 "R #F e @ & fo=ae o gfs sree (wEan) =T A, ar
I T FEA & | G TAT F, A T AT U G, HIT AT T Ffarfa & dag
faferse et & fFafee o5 =T S5 FgdEr 8|

ST h @R : T €T H I & &l AN &l 7

1. AT B : [ ST iF T AT i UET & S 9 ST 8, 39 AT
BT HEd & | S - &IET, IT9TS, GRET, AT e |
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2. it S5 : [T =T =T T (IT&1E) &6 VAT 3T HIH & AT I & ST 5,
I a0 BT Fad & | N - 4T, HfaT, AT AT AT |

T ATqREd U 'qad S T &[T &, 91 /et F=e & S9T 781 gaT)

SITRTIT Sl TRMTITAT T T Ioh A TTSE e | H (o= &l 3R i | JSTE0r & &
ATIRT ITL AT T HTIRTEAT 8T ST & |

6. frferiaa = 7 & fReT U QR &7 39< fo@ | (92 ST AT 100 )
(i) SR AT TE I {TNTAT & ST IT TS T Sl TS A0 FT-FTET ?

Solution:

I & &9 #4T 916" 918 & AT 97, 5 o 9dTd & 6 Gehd A g@T HEArT oJT-
NTHC & STTIT & I ST Al AT T AN 5T | G0 TST AT I §3T [ 76
feroer & Tt & GATeHS STeTTT &7 A9 (7, frae s r-fase & fahre g=)
IR 9T fo T, e 3 deha STET HINTAC & T8 @99 &7, ST UF &6 JoT O
(EST-IUTIIT JTYT TREW) & AT G FaT & |

TG ATANET, Iog YT AT G, T 3T TR FuTAT &7 fq9mer W= o, Saa

I8 T AT & (aard, 9891 & Icafa o7 fata= sirfaat & dfa-Ras araqsma &
e (e | a7 3% fqEmT 6 AT Sa @ gsrasr aeeret W e
WﬁWWﬁWWWWIWW#W%WWﬁW

I fava %I“c‘. & ATIE I |

T I AT TIAT 7, A (g &l AIT-AT add i § €75 €7 F ford | 397
&l MHRT, 7§58 T A7 sy H fenmfaa & & e & |

(i) TCEIT SATEAT HL
"ITAT FET GSHi I 1T are &, 94T AT |@at 7, @fag=r § 1"

Solution:
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T :
Eqq dfFadt TewRq T [ e g T e wfqdr 'SHade @t a
ﬁ@%lﬁ?ﬁﬁﬁﬁ‘&?ﬁ‘nlm T AThe o & AT 6T 1S e §U ST Al &7

qTEafae aadr Y ITEE ST # & |
ogreT :

Fq [T Fgd & 6 Sdae YT H 9T 91 HiwT, Taqadqt a1 TAr-2qdt § T8t
feiiT | 39 AdaY & aredfasd <aar ar YT & ST Auiey, R oI sefad &, T
HShi T 77 AT (T Tred g0 a7 o9 Wt 30 |iageT F T6HT 87 50 fHei |
T &1 AT 5 & [ AThaqe 5 STET SO &7 AR fwe T T a1 rHsTTer air &1 78T,
Ffed I AT STdT &7 & AT I & FH0 & [0 FSw TRIH AT 8§ | T &7 a=a1
AR a1 [RET AT ASTGL & ddT 9% ST 81T, 317 g o1a 3= & faw &)

FIEIT SFTEAT & I &l gHAT T W & fowd: e T (e &faar i &fa &r
T T Ha ga10) A ST (Frae dfeadt & vrary faeaw & gasm) |
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